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EEMEFICES TS EBZBERER
SH3ES HAIE
(BAfL: RO JL/kg)

s o FRER T B E B B E B BITEE ——
Sk H wis | FRER | pomnisa) | evvaien  |esmsamm| WER
B R RE B R RE

FEEEH |45 XE I H BRHEY[ 100 BRHEY| 100 BmHEEd R3.6.30
BEEEH) |17 KE HE BmHEtEd| 100 BmHEtEd] 100 BREtEd R3.6.30
HEACEX N EPL P i) RH BmHEEd] 100 BmHEE3| 119 BT R3.6.29
FEEEH |45 Fig RH RHEd | 100 RHEY | 121 BHEd R3.6.29
HEEEH) |17 i) RH BmHEtEd] 100 BmHEtEd] 100 BmEEd R3.6.30
HEACETNEPL P FE H Fi BmHEEd] 100 BmHEEd] 100 BmEEd R3.6.10
HE(EEH |45 FiE H Fi RHEd | 100 RHEd | 100 BmHeEd R3.6.24
HEEZH) |17 i) =¥ BmHEtEd] 100 BmHEtEd| 118 BmEtEd R3.6.24
B ExEH |45 Kif =04 RHEY | 100 RHEY 100 BREEd R3.6.24
G EX PP a3 ¥ H mHt9 | 100 mHt9 | 100 BREtEd R3.6.30
FxE(EZEH) (15> KA SIAE BmHEEd] 100 BmHEEd] 100 BmEEd R3.6.29
FEEZEH |45 i REER RHEY | 100 RHES | 120 BmHEEd R3.6.17
HRExH) |17 i REIR Rt 100 Rt 100 BREtEd R3.6.25
B (EZXEH) (152 i RER BmHEEd] 100 BmHEEd| 123 BT R3.6.29
FEEZEH |45 IMET INE RHEY | 100 RHEY | 100 BmEEd R3.6.25
HEEEH) |17 IMEST INE BmHEtEd 100 BmHEtEd] 100 BREtEd R3.6.29
HEACETNEPL P ZDih SEAHET BmHEEd] 100 BmHEEd] 100 BmEEd R3.6.30
FEEEH |45 ZDith SEAHET RHEd | 100 RHEd | 100 BHEd R3.6.30
HEEEH) |17 N L/MUA | BHEY | 100 BmHEtEd| 135 BREEd R3.7.1
B ExH |15 N E/NLUE RHEY 100 RHEY 100 BmEEd R3.6.17
HE(EEH |45 PN E/NUE RHEd | 100 RHEd | 100 BHEEd R3.6.18
FE(EZXEH) (105> ZDHh A BmHEEd] 100 BmHEEd] 100 BREEd R3.6.17
B EZEH |45 N /NMEHA RHEY | 100 RHEY 100 BREEd R3.6.23
HRExH) |17 a3 8 RHt9 | 100 Rt 100 BREtEd R3.6.28
FxE(EZEH) (1052 KA = BmHEEd] 100 BmHEEd] 100 BmEEd R3.6.22
FEEZEH |45 N Ho RHEY | 100 RHES | 120 BmHEEd R3.6.18
HEEEH) |17 RE H Rt 100 Rt 118 BREtEd R3.6.22
FxE(EZXEH) (152 KE Hh BmHEEd] 100 BmHEEd] 100 BREEd R3.6.8
FEEZEHE |45 [EGHR {hDET RHEd | 100 RHET | 117 BmHEEd R3.6.28
HEREEH) |17 Z#H Z#H Rt 100 Rt 125 BREtEd R3.6.17
HEACETNEPL P Z#HE Z#HE BmHEEd] 100 BmHEEd] 120 BmEEd R3.6.22
FEEEH |45 —H#HE —H#HE RHEd | 100 RHEd | 100 BHEd R3.6.28
HEEEH) |17 G G 1] BmHEEd] 100 BmHEEd] 131 BREtEd R3.6.14
B ExEH) |45 S 7a)ll RHEY 100 RHEY 100 BmEEd R3.6.24
BHE(EZEH |45 P #H mHt9 | 100 RHt9 | 120 BREtEd R3.6.14
B (EZXEH) (105> JEE EE BmHEEd] 100 BmHEEd] 100 BREEd R3.6.17
B EZEHE 415 JEM EE RHEY| 100 RHEY| 100 BmHEEd R3.6.25
BRExH) |17 i RH Rt 100 Rt 119 BREtEd R3.6.23
FxE(EZEH) (15> i RH BmHEEd] 100 BmHEEd] 100 BmEEd R3.6.25
FEEZEH |45 Kif B E RHEY | 100 RHEY | 100 BmEEd R3.6.21
HEREEH) |17 KA BE Rt 100 Rt 100 BREtEd R3.6.25
FE(EZEH) (152 i) RtlR BmHEEd] 100 BmHEEd] 100 BmEEd R3.6.24
FEEZXHE |45 PN B RHEd | 100 RHEd | 100 BmHEEd R3.6.30
HEREEH) |17 K& EHx Rt 100 Rt 100 BREtEd R3.6.30
HEACETNEPL P N B BmHEEd] 100 BmHEEd] 100 BmEEd R3.6.30
HE(EEH |45 i FE RHEd | 100 RHEd | 119 BHEd R3.6.21
HEEEH) |17 FiEs EE BmHEEd] 100 BmHEtEd| 118 BmEtEd R3.6.24
B EZRH) |45 =i STE RHEY 100 RHET] 121 BRHEEd R3.6.24
HEdC EX PP =i xiR mHt9 | 100 mHt9 | 100 BREtEd R3.6.15
B (EZXEH) (15> b=b. xR BmHEEd] 100 BmHEtEd| 143 BREEd R3.6.29
BEEEH |45 =i xR RHEY 100 RHEY 100 BT R3.6.21
HRExH) |17 i EEdin RHEd | 100 RHEd | 136 BRHET R3.6.17
FxE(EZEH) (15> G e BmHEEd] 100 BmHEEd] 127 BREEd R3.7.1
FEEZEH |45 JEE H RHEY | 100 RHEY | 100 BmHEEd R3.6.24
HEEEH) |17 JEHE HE Rt 100 Rt 126 BREtEd R3.6.30
FEEZEH) (15> JEE FHE BmHEEd] 100 BmHEEd] 100 BREEd R3.6.29
FEEZXHE |45 JEME s RHEd | 100 RHtEd | 100 BmHEEd R3.6.30
FEExH) |V EGHR SAHIE Rt 100 Rt 121 BREtEd R3.6.18
FE(EEH) |TF4<A G h =R BmHEEd] 100 BmHEEd| 124 BmEEd R3.6.29
HEACET NIE K] =% £H RHEd | 100 RHEd | 123 BmEeEd R3.6.21
FE(REH) |T4<A b=b. X BmHEEd] 100 BmHEEd] 120 BREEd R3.6.22
R (FExEH) |75 KA & RHEY | 100 RHEY 100 BRHEEd R3.6.29
B ExH) |45 RE H RHt9 | 100 R3] 100 BREtEd R3.6.11
FR(EFExEH) |97 £ B BmHEEd] 100 BmHEEd] 100 BmEEd R3.6.30
EEACET NP =% HH RHEY | 100 RHEY 100 BmHEEd R3.6.30
HEREZFH) |hEFy IMEST I Rt 100 Rt 100 BREtEd R3.6.29
FE(EEH) [hRFv i 78l BmHEEd] 100 BmHEEd] 100 BREEd R3.6.22
FE(EXRH) |[hHRFr =% R H RHEd | 100 RHEd | 119 BmHEEd R3.6.29
xR EXH) |(B)I75T7— KA JtiEHE Rt 100 Rt 100 BREtEd R3.6.11
FEEZEH) [Ty KA JITE BmHEEd] 100 BmHEEd] 100 BT R3.6.24
EEACETNEEDD Kif P A BRHET R3.6.11
FEEEH) |*av) [HTHA ABHT BmHEtEd] 100 BmHEEd| 126 BREtEd R3.6.15
FE(EZX$H) [Favy N HE BmHEEd] 100 BmHEEd] 120 BT R3.6.24
HEICETNEEDD) N fH RHEd | 100 R3] 100 BHeEd R3.6.14
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EEMEFICES TS EBZBERER
SH3ES HAIE
(BAfL: RO JL/kg)

s o FRER T B E B B E B BIEE ——
Sk H wis | FRER | pomnisa) | evvaien  |esmsamm| WER
B R RE B R RE

HEACEXNEEDD) XE fH BRHEY[ 100 BRHEY] 100 BmHEEd R3.6.21
FEEEH) | ¥av) KE HE BmHEtEd| 100 BmHEtEd] 100 BREtEd R3.6.21
HEAC EXNEEYD) N HE BmHEEd] 100 BmHEEd] 100 BT R3.6.22
HEICEETNEEDD) N mH RHEd | 100 3| 100 BHEd R3.6.23
HFEEEH) | ¥av) KE R HE BmHEtEd] 100 BmHEtEd] 100 BmEEd R3.6.25
FEEXEH) [Favy N R H BmHEEd] 100 BmHEEd] 100 BmEEd R3.6.28
FREEH) | *a2) N R H RHEd | 100 RHEd | 100 BmHeEd R3.6.28
FEEZEH) | *av) K& R H BmHEtEd] 100 BmHEtEd] 100 BmEtEd R3.6.28
FFE(ExH) a7l N /I H 2HEY | 10.0 RHEY 100 BRHEET R3.6.30
FREEH) |1 *a) KE R HE mHt9 | 100 mHt9 | 100 BREtEd R3.6.30
xR (EZX$H) [Favl i) RH BmHEEd] 100 BmHEEd| 118 BmEEd R3.6.21
FEEXEH) [Favy FE H RH RHEY | 100 RHEY ] 119 BmHEEd R3.6.14
FREEH) |*avY) FiE H RH Rt 100 Rt 121 BT R3.6.17
FxE(EZX$H) [Favl i) RH BmHEEd] 100 BmHEEd| 118 BT R3.6.18
HEACEZNEE=wD e H RH RHEY | 100 RHEY| 114 BmEEd R3.6.24
FEEEH) |*av) K& eESdEs] BmHEtEd 100 BmHEtEd] 100 BREtEd R3.6.18
HEACETNEEYD) FE H Fi BmHEEd] 100 BmHEEd| 122 BmEEd R3.6.15
HEICETNEED) e H Fi RHEd | 100 3| 123 BHEd R3.6.18
FE(REH) | 2oV i) Fi BRHET R3.6.21
FFE(ExHE) 2ol FE H Fi RHEY 100 RHEY 100 BmEEd R3.6.14
FREEH) | *a2) FiE H FiE RHEd | 100 RHEd | 100 BHEEd R3.6.21
FxE(EZX$H) [Favl HE H =i BmHEEd] 100 BmHEEd| 119 BREEd R3.6.21
HEACETNEEYD) FE H =04 BmHEEd] 100 BmHEEd] 117 BREEd R3.6.23
FREEH) |*avY) i H =i BREtEd R3.6.25
xR (EZX$H) [Favl i) =i BmHEEd] 100 BmHEEd] 100 BmEEd R3.6.10
FE(EXH) X2l =i B H BRHEET R3.6.23
FEEXEH) | a2l a3 ¥ H BmHEtEd| 100 BmHEtEd| 115 BREtEd R3.6.30
xR (EX$H) [Favl b=b. ¥ H BmHEEd] 100 BmHEEd] 100 BREEd R3.6.23
HEACETNEED) Kif B H RHEd | 100 RHEd | 100 BRHEET R3.6.10
FEEXEH) | a2l KA SIAE Rt 100 Rt 100 BREtEd R3.6.23
FE(EZXEH) [Favy IMEST RRE; BmHEEd] 100 BmHEEd| 112 BmEEd R3.6.29
HEICETNEED) IMET T RHEd | 100 3| 100 BHEd R3.6.4
FEEZEH) |¥av) IMEST I BmHEEd] 100 BmHEEd] 100 BREtEd R3.6.16
EFEACETNEEDD INET T B9 100 3| 100 BRHEET R3.6.17
FREEH) | *a2) IMEST ST mHt9 | 100 R3] 100 BREtEd R3.6.30
FxE(EZX$H) [Favl IMEST I BmHEEd] 100 BmHEEd] 100 BREEd R3.6.30
EHEACETNEEDD IMNET TH B9 100 B3| 100 BRHEET R3.6.30
FREEH) |*avY) IMET ST Rt 100 Rt 100 BREtEd R3.6.30
xR (EX$H) [Favl FiEs RER BmHEEd] 100 BmHEEd] 124 BmEEd R3.6.22
HEACETNEED) A% RKER RHEY | 100 RHEY | 100 BmEEd R3.6.22
FEREEH) |*avY) i REIR Rt 100 Rt 100 BREtEd R3.6.23
FE(EZX$H) [Favy G RER BmHEEd] 100 BmHEEd| 116 BmEEd R3.6.24
HEACETNEED) A% AER RHEd | 100 RHEd | 100 BmHEEd R3.6.25
FEREEH) |*av) L REIR Rt 100 Rt 100 BREtEd R3.6.29
FEEXE$H) [Favl =% KAR BmHEEd] 100 BmHEEd] 100 BmEEd R3.6.29
FREEH) X2 XE XE RHEd | 100 RHEd | 100 BHEd R3.6.17
HFEEZEH) | ¥av) N RE BmHEEd] 100 BmHEtEd] 100 BmEtEd R3.6.18
P (Bx$H) (ol KE RE RHE3 | 100 R3] 100 BRHEEd R3.6.18
FREEH) | *a2) IMEST INE mHt9 | 100 mHt9 | 100 BREtEd R3.6.11
FxE(EZX$H) [Favl IMEST INE BmHEEd] 100 BmHEEd] 100 BREEd R3.6.15
FEEXEH) [Favy INEST INE RHEY 100 RHEY 100 BT R3.6.15
FREEH) |*avY) IMET INE R3] 100 Rt 100 BREtEd R3.6.15
FxE(EX$H) [Favl IMEST INE BmHEEd] 100 BmHEEd] 100 BREEd R3.6.16
HEACEZNEE=wD IMNEST INE RHEY | 100 RHEY | 100 BmHEEd R3.6.17
FEEXEH) | a1l IMET INE Rt 100 Rt 100 BREtEd R3.6.17
FE(EZX$H) [Favl IMEST INE BmHEEd] 100 BmHEEd] 100 BREEd R3.6.18
EEACETNEEDD INEST INE RHEY 100 RHEY 100 BRHET R3.6.21
FEREEH) |*avY) IMET INE Rt 100 Rt 100 BREtEd R3.6.21
FE(EZXEH) [Favl IMEST INE BmHEEd] 100 BmHEEd] 100 BmEEd R3.6.22
FREEH) 1 *a2) IMET INE RHEd | 100 RHEd | 100 BmEeEd R3.6.23
FEEZH) |¥av) IMEST INE BmHEEd] 100 BmHEEd] 100 BREEd R3.6.24
EFEACETNEEDD INMEST INE 2HEY | 10.0 R3] 100 BRHEET R3.6.25
FREEH) |*avY) IMET INE RHt9 | 100 R3] 100 BREtEd R3.6.30
xR (EZX$H) [Favl Lk A BmHEEd] 100 BmHEEd| 116 BmEEd R3.6.29
HEACETNEEYD) A% A RHEY | 100 RHEY 100 BmHEEd R3.6.30
FEEEH) |*av) FitE A Rt 100 Rt 100 BREtEd R3.7.1
FxE(FEZX$H) [Favl Z D =A BmHEEd] 100 BmHEEd] 100 BREEd R3.6.15
HEACETNEEYD) ZDith = A AT RHEd | 100 RHEd | 100 BRHET R3.6.9
FEEXEH) | a1l ZDih 5% A BT Rt 100 Rt 100 BREtEd R3.6.16
FEEZXE$H) [Favl N E/MUA | BHEY | 100 BmHEEd] 100 BT R3.6.25
HEACETNEEDD) PN F/NUE RHEd | 100 RHEd | 100 BRHET R3.6.29
FEEEH) |*av) N /LA Rt 100 Rt 100 BREtEd R3.6.23
FE(EZX$H) [Favy N E/MUA | BHEY | 100 BmHEEd] 100 BT R3.6.15
HEICETNEEDD) N +F/MUA 3| 100 R3] 100 BHeEd R3.6.15
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EEMEFICES TS EBZBERER
SH3ES HAIE
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s o FRER T B E B B E B BIEE ——
Sk H wis | FRER | pomnisa) | evvaien  |esmsamm| WER
B R RE B R RE

HEACEXNEEDD) XE E/AUE | BEEd] 100 BRHEY] 100 BmHEEd R3.6.18
FEEEH) | ¥av) N L/MUA | BHEY | 100 BmHEtEd] 100 BREtEd R3.6.23
HEAC EXNEEYD) N E/MUA | BHEY 100 BmHEEd] 100 BT R3.6.24
HEICEETNEEDD) PN L/ LA RHEd | 100 RHEd | 100 BHEd R3.6.24
HFEEEH) | ¥av) N L/MUA | BEHEY | 100 BmHEtEd] 100 BmEEd R3.6.25
FEEXEH) [Favy N E/NMUA | &BHEY 100 BmHEEd] 100 BmEEd R3.6.28
FREEH) | *a2) =% LiEHE RHEd | 100 RHET | 117 BmHeEd R3.6.22
FEEZEH) | *av) N /MEH BmHEtEd] 100 BmHEtEd] 100 BmEtEd R3.6.16
FxE£H) [Fav) KE /IMEH R3] 100 R3] 100 BREEd R3.6.24
FREEH) |1 *a) IMEST 15 H mHt9 | 100 RHt9 | 120 BREtEd R3.6.30
xR (EZX$H) [Favl IMEST 15 H BmHEEd] 100 BmHEEd] 100 BmEEd R3.6.18
FEEXEH) [Favy IMEST 15| RHEY | 100 RHEY | 100 BmHEEd R3.6.21
FREEH) |*avY) IMEST 15 H Rt 100 Rt 100 BREtEd R3.6.22
FxE(EZX$H) [Favl IMEST 15 H BmHEEd] 100 BmHEEd] 100 BT R3.6.24
HEACETNEEYD) KA EE RHEY | 100 RHEY | 100 BmEEd R3.6.14
FEEEH) |*av) ] Bk BmHEtEd 100 BmHEtEd] 100 BREtEd R3.6.15
HEACETNEEYD) Kif Ek BmHEEd] 100 BmHEEd] 100 BmEEd R3.6.15
HEICETNEED) KA EX RHEd[ 100 RHE3| 100 BHEd R3.6.18
FEEEH) |¥av) A Bk BmHEEd[ 100 BmHEEd[ 100 BREEd R3.6.18
HEACEXNEEYD) EGHZ FHE RHEY[ 100 RHES[ 120 BmEEd R3.6.23
FREEH) | *a2) EGHA SAHRE RHEd[ 100 RHEd[ 118 BHEEd R3.7.1
FxE(EZX$H) [Favl =% = BmHEEd[ 100 BmHEEd[ 100 BREEd R3.6.17
HEACETNEEYD) =% B RHEY[ 100 RHEY[ 100 BREEd R3.6.22
FREEH) |*avY) =8 8 Rt 100 Rt 100 BREtEd R3.6.28
xR (EZX$H) [Favl =% #E4 BmHEEd[ 100 BmHEE| 122 BmEEd R3.6.15
HEACETNEEYD) —3#HE EE~ [ RHES[ 100 RHEY[ 115 BmHEEd R3.6.18
FEEEH) | *avY) Z#H EE 4 [if] Rt 100 RHEET| 121 BREtEd R3.6.22
xR (EX$H) [Favl Z3#H #E 4 [if] BmHEEd[ 100 BmHEEd| 115 BREEd R3.6.24
EEACETNEEDD —3#HE SE~ [ RHEY[ 100 RHEY[ 116 BRHEET R3.6.25
FEREEH) |*av) Z#H EB 4 [if] Rt 100 Rt 122 BREtEd R3.6.25
FE(EZXEH) [Favy N Ho BmHEEd[ 100 BmHEEd[ 100 BmEEd R3.6.29
FEEEH) [Fav) KE H e 10.0 e 10.0 BRHEY R3.6.21
FEEZEH) |¥av) K& Hh BmHEEd[ 100 BmHEEd[ 100 BREtEd R3.6.10
HEACETNEEYD) XE Ho RHEY[ 100 RHEY[ 100 BmEEd R3.6.15
FREEH) | *a2) K& Hh Rt 100 Rt 100 BREtEd R3.6.15
FxE(EZX$H) [Favl KE Hh BmHEEd[ 100 BmHEEd[ 100 BREEd R3.6.16
Fx(ExH) [Fav) K&K Hh 3| 100 R3] 100 BmHEEd R3.6.18
FREEH) |*avY) RE Hh Rt 100 Rt 100 BREtEd R3.6.21
xR (EX$H) [Favl KE Hh BmHEEd[ 100 BmHEEd[ 100 BmEEd R3.6.24
HEACETNEED) N Ho RHEEY[ 100 RHEY[ 100 BmEEd R3.6.24
FEREEH) |*avY) KE H Rt 100 Rt 100 BREtEd R3.6.24
FE(EZX$H) [Favy N Hh BmHEEd[ 100 BmHEEd[ 100 BmEEd R3.6.28
HEACETNEED) ZDith EFNIES RHE9[ 100 RHEd[ 100 BRHEET R3.6.23
FEREEH) |*av) IMET iz Rt 100 Rt 123 BREtEd R3.6.25
FEEXE$H) [Favl IMET 17 BmHEEd[ 100 BmHEEd[ 100 BmEEd R3.6.8
FREEH) X2 IMET iz RHEd[ 100 RHEd[ 100 BHEd R3.6.16
HFEEZEH) | ¥av) [HHEA thig BmHEEd[ 100 BmHEEd[ 100 BmEtEd R3.6.23
HEACEXNEEYD) —3#HE ol RHEY[ 100 RHEY[ 116 BRHEEd R3.6.25
FREEH) | *a2) —#H sl Rt 100 Rt 122 BT R3.6.29
FxE(EZX$H) [Favl Z#H Z#H BmHEEd[ 100 BmHEEd[ 117 BREEd R3.6.11
FEEXEH) [Favy Z3#HE Z3#HE RHEY[ 100 REHEY[ 119 BT R3.6.15
FREEH) |*avY) —3#H -3 H Rt 100 Rt 120 BREtEd R3.6.15
FxE(EX$H) [Favl Z3#H Z3#H BmHEEd[ 100 BmHEEd[ 100 BREEd R3.6.15
HEACETNEED) Z3#H ZH#HH RHEY[ 100 RHES[ 117 BmHEEd R3.6.18
FEEXEH) | a1l Z#H Z#H Rt 100 9| 115 BREtEd R3.6.18
FE(EZX$H) [Favl Z3#H Z3#H BmHEEd[ 100 BmHEE[ 120 BREEd R3.6.18
HEACETNEEYD) —3#HE —3#HE RHEd[ 100 REHET[ 119 BmHEEd R3.6.22
FEREEH) |*avY) Z#HH Z#HH R3] 100 R 117 BREtEd R3.6.24
FE(EZXEH) [Favl Z3#H Z3#H BmHEEd[ 100 BmHEEd| 123 BmEEd R3.6.24
FREEH) 1 *a2) -3 H —3#HE RHEd[ 100 RHEd[ 115 BmEeEd R3.6.24
FEEZH) |¥av) Z#H Z#H BmHEEd[ 100 BmHEE| 122 BREEd R3.6.25
HEACEXNEEYD) —3#HE —3#HE RHEY[ 100 RHET[ 117 BRHEEd R3.6.25
FREEH) |*avY) —#H -3 H Rt 100 Rt 100 BREtEd R3.6.25
xR (EZX$H) [Favl Z3#H Z3#H BmHEEd[ 100 BmHEEY| 122 BmEEd R3.6.29
HEACETNEEYD) —3#HE —3#HE RHEY[ 100 RHES[ 120 BmHEEd R3.6.30
FEEXEH) | a2l i 7l Rt 100 Rt 124 BREtEd R3.6.17
FxE(FEZX$H) [Favl G 7aJIl BmHEEd[ 100 BmHEE9| 119 BREEd R3.6.22
HEACETNEEYD) i 78l RHE9[ 100 RHEd[ 100 BmHEEd R3.6.23
FEEXEH) | a1l FiEs 7l Rt 100 Rt 100 BREtEd R3.6.28
FEEZXE$H) [Favl G 78Il BmHEEd[ 100 BmHEEd| 119 BT R3.6.29
FxEEH) [¥avl) i 78l BREET R3.6.30
FEEXEH) | a1l e i1} BREtEd R3.7.1
FE(EZX$H) [Favy G galil BT R3.6.15
HEICETNEEDD) i Ll BmHEY[ 100 BRHET] 118 BHeEd R3.6.30
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EEMEFICES TS EBZBERER
SH3ES HAIE
(BAfL: RO JL/kg)

s o FRER T B E B B E B BIEE ——
Sk H wis | FRER | pomnisa) | evvaien  |esmsamm| WER
B R RE B R RE

HEACEXNEEDD) i Ll BRHEY[ 100 BREHET[ 110 BmHEEd R3.6.16
FEEEH) | ¥av) b=b. #H BmHEEd[ 100 BmHEtEd| 123 BREtEd R3.6.17
HEAC EXNEEYD) =% £ H BmHEEd[ 100 BmHEE3| 116 BT R3.6.22
HEICEETNEEDD) =% 2 H RHEd[ 100 3| 100 BHEd R3.6.28
HFEEEH) | ¥av) b=b. #H BmHEEd[ 100 BmHEEd[ 100 BmEEd R3.6.25
FEEXEH) [Favy Kif #H BmHEEd[ 100 BmHEEd[ 100 BmEEd R3.6.17
FREEH) | *a2) KA 2H RHEd[ 100 RHEd[ 100 BmHeEd R3.6.17
FEEZEH) | *av) a3 puifas) BmHEEd[ 100 BmHEEd| 115 BmEtEd R3.6.22
FxE£H) [Fav) =% puiifas) 3| 100 3| 120 BREEd R3.6.29
FREEH) |1 *a) JEH EE Rt 100 Rt 100 BREtEd R3.6.11
xR (EZX$H) [Favl JEHE EE BmHEEd[ 100 BmHEEd[ 100 BmEEd R3.6.21
FEEXEH) [Favy EH EE RHEY[ 100 RHES[ 100 BmHEEd R3.6.22
FREEH) |*avY) JEH EE Rt 100 Rt 100 BREtEd R3.6.25
FxE(EZX$H) [Favl N HEEH BmHEEd[ 100 BmHEEd[ 100 BT R3.6.29
HEACEZNEE=wD N HEEH BRHET R3.6.30
FEEEH) |*av) L RH BmHEEd[ 100 BmHEEd| 126 BREtEd R3.6.7
HEACETNEEYD) i =RH BmHEEd|[ 100 BmHEEd 124 BmEEd R3.6.15
HEICETNEED) A% =H RHEd[ 100 RHEd[ 123 BHEd R3.6.21
FEEEH) |¥av) Lk KXH BmHEEd[ 100 BmHEEd[ 121 BREEd R3.6.23
HEACEXNEEYD) S RH RHEY[ 100 RHET[ 122 BmEEd R3.6.25
FREEH) | *a2) AR RH RHEd[ 100 RHEd[ 100 BHEEd R3.6.25
FxE(EZX$H) [Favl G =XH BmHEEd[ 100 BmHEEd[ 117 BREEd R3.6.25
FFE(ExHE) a7l i =*H RHEY[ 100 RHEY[ 120 BREEd R3.6.25
FREEH) |*avY) £ BE Rt 100 Rt 100 BREtEd R3.6.15
xR (EZX$H) [Favl £ BE BmHEEd[ 100 BmHEEd[ 100 BmEEd R3.6.16
HEACETNEEYD) KA EXE] RHES[ 100 RHEY[ 100 BmHEEd R3.6.16
FEEEH) | *avY) £ BE Rt 100 Rt 100 BREtEd R3.6.17
xR (EX$H) [Favl £ B®E BmHEEd[ 100 BmHEEd[ 100 BREEd R3.6.21
HEACETNEED) KA & RHEd[ 100 RHEd[ 100 BmHEEd R3.6.22
FEREEH) |*av) £ BE Rt 100 Rt 100 BREtEd R3.6.25
FE(EZXEH) [Favy KA B BmHEEd[ 100 BmHEEd[ 100 BmEEd R3.6.30
HEICETNEED) KA B & RHEd[ 100 3| 100 BHEd R3.6.24
FEEZEH) |¥av) i) RtlR BmHEEd[ 100 BmEEd[ 121 BREtEd R3.6.10
FFE(ExHE) a7l Gile) Rt BRHEET R3.6.16
FREEH) | *a2) FiE RtR BmHEtEd[ 100 BmHEtd| 128 BREtEd R3.6.18
FxE(EZX$H) [Favl i) RtlR BmHEEd[ 100 BmHEEd[ 121 BREEd R3.6.18
HEACETNEEYD) FE H REE RHEY[ 100 RHEY[ 100 BmHEEd R3.6.17
FREEH) |*avY) KA JEIA Rt 100 Rt 100 BREtEd R3.6.14
xR (EX$H) [Favl JEHE miiEJI BmHEEd[ 100 BmHEEd[ 100 BmEEd R3.6.21
HEACETNEED) EH miA)Il RHEEY[ 100 RHEY[ 100 BmEEd R3.6.24
FEREEH) |*avY) JEH B EJI Rt 100 Rt 100 BREtEd R3.6.24
FE(EZX$H) [Favy JEH B BmHEEd[ 100 BmHEEd[ 100 BmEEd R3.6.24
HEACETNEED) EH miA)Il RHE9[ 100 RHEd[ 100 BmHEEd R3.6.15
FEREEH) |*av) JEH B EJI Rt 100 R3] 100 BREtEd R3.6.15
FEEXE$H) [Favl JEH A BmHEEd[ 100 BmHEEd[ 100 BmEEd R3.6.16
FREEH) X2 JEHE miE I RHEd[ 100 RHEd[ 100 BHEd R3.6.17
HFEEZEH) | ¥av) JEH AITEJI BmHEEd[ 100 BmHEEd[ 100 BmEtEd R3.6.17
HEdC S NE=wl JEE miAJIl BRHEET R3.6.17
FREEH) | *a2) JEH AT EJI BmHEtEd|[ 100 BmHEtEd[ 100 BREtEd R3.6.29
FxE(EZX$H) [Favl JEHE B E]I BmHEEd[ 100 BmHEEd[ 100 BREEd R3.6.29
FEEXEH) [Favy EH BT A RHEY[ 100 RHEY[ 100 BT R3.6.29
FREEH) |*avY) JEH B EJI Rt 100 Rt 100 BREtEd R3.6.30
FxE(EX$H) [Favl FiE H Wix BmHEEd[ 100 BmHEEd[ 100 BREEd R3.6.15
HEACETNEED) Gile) [NEA RHEY[ 100 RHEY[ 116 BmHEEd R3.6.18
FEEXEH) | a1l FiE H MR Rt 100 Rt 124 BREtEd R3.6.21
HEACETNEEDD N B BmHEEd[ 100 BmHEE[ 120 BREEd R3.6.23
HEACETNEEYD) N B RHEd[ 100 RHET[ 117 BmHEEd R3.6.23
FEREEH) |*avY) K& LS R3] 100 R3] 100 BREtEd R3.6.16
FE(EZXEH) [Favl N B BmHEEd[ 100 BmHEEd[ 100 BmEEd R3.6.25
FREEH) 1 *a2) N B RHEd[ 100 RHEd[ 100 BmEeEd R3.6.30
FEEZH) |¥av) Lk =B BmHEEd[ 100 BmHEEd[ 100 BREEd R3.6.29
Fx(ExH) [Fav) =% SFE R3] 100 3| 100 BRHEEd R3.6.17
FREEH) |*avY) a3 SFE Rt 100 Rt 100 BREtEd R3.6.29
xR (EZX$H) [Favl =% STE BmHEEd[ 100 BmHEEd[ 100 BmEEd R3.6.29
HEACETNEEYD) =% xR RHEY[ 100 RHES[ 100 BmHEEd R3.6.15
FEEXEH) | a2l a3 xR Rt 100 Rt 122 BREtEd R3.6.21
FxE(FEZX$H) [Favl =% xR BmHEEd[ 100 BmHEEd[ 100 BREEd R3.6.22
HEACETNEEYD) KA xR RHE9[ 100 RHEd[ 100 BmHEEd R3.6.17
FEEXEH) | a1l KA KX HE Rt 100 Rt 100 BREtEd R3.6.14
FEEZXE$H) [Favl KA X HEEF BmHEEd[ 100 BmHEEd[ 100 BT R3.6.15
HEACETNEEDD) KA XA RHEd[ 100 RHE9[ 100 BmHEEd R3.6.28
FEEEH) |*av) i W=F Rt 100 Rt 123 BREtEd R3.6.21
FE(EZX$H) [Favy A 1 H BmHEEd[ 100 BmHEEd[ 100 BT R3.6.15
HEICETNEEDD) KA HH 3| 100 3| 100 BHeEd R3.6.22
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HEACEXNEEDD) KA HH BRHEY[ 100 BRHEY[ 100 BmHEEd R3.6.23
FEEEH) | ¥av) KA #%H BmHEEd[ 100 BmHEEd[ 100 BREtEd R3.6.30
HEAC EXNEEYD) Fif i BmHEEd[ 100 BmEEd[ 117 BT R3.6.8
HEICEETNEEDD) i i RHEd[ 100 RHET[ 119 BHEd R3.6.21
HFEEEH) | ¥av) i e BmHEEd[ 100 BmHEEd[ 100 BmEEd R3.6.25
FEEXEH) [Favy JEH FH BmHEEd[ 100 BmHEE3| 116 BmEEd R3.6.30
FREEH) | *a2) JEHE H RHEd[ 100 RHEd[ 100 BmHeEd R3.6.30
FEEZEH) | *av) JEH HE BmHEEd[ 100 BmHEEd[ 100 BmEtEd R3.6.10
HEACEXNEEYD) EH H RHEY[ 100 RHEY[ 100 BREEd R3.6.16
FEREZFH) |V)—E—X  |FEHE = RHEd[ 100 RHEd[ 132 BHEd R3.6.3
FEREFRE) [JJ—E—X  [/MET INE BmHEEd[ 100 BmHEE| 122 BmEEd R3.6.8
(B [V)—E—X  [/MET INE RHEY[ 100 RHES[ 100 BmHEEd R3.6.10
B (BxH) |[V)—E—X  [FDi e RHEd[ 100 RHEd[ 118 BT R3.6.3
xR ExRH |J)—VE—X | KE E/MUA | BEHEY[ 100 BmHEEd[ 100 BT R3.6.4
R (BEH) |[YU—E—X [IZH#H —3#HE RHEEY[ 100 RHEY[ 123 BmEEd R3.6.3
BEREZFEH) |[V)—E—R | E# #H BmHEEd[ 100 BmHEEd[ 100 BREtEd R3.6.1
B (ExRH) |FJ)—E—X  |FEH RiE BmHEEd|[ 100 BmEEd[ 117 BmEEd R3.6.3
¥k (Bx$H) [V)—rE—X |&5# x; RHEd[ 100 RHEd[ 123 BHEd R3.6.4
xR (EXH) |V)—E—X  [(EH HE BmHEEd[ 100 BmHEEd[ 100 BREEd R3.6.4
FEEZRH |[JUVE—X Kif 1 RHEY[ 100 RHEY[ 100 BmEEd R3.6.9
BEREFH |9 F— =% 2H RHEd[ 100 RHEd[ 100 BHEEd R3.6.21
FEEEH | X KA KA BmHEEd[ 100 BmHEEd[ 100 BREEd R3.6.30
FEICET NP AP N fH RHEY[ 100 RHEY[ 100 BREEd R3.6.16
HEACEI NP REPYP RE HE Rt 100 Rt 100 BREtEd R3.6.21
FE(EEH) (b4 ry KE HE BmHEEd[ 100 BmHEEd[ 100 BmEEd R3.6.23
FEACET NP AP N fH RHES[ 100 RHEY[ 100 BmHEEd R3.6.28
HEACELI NP REPYP RE ikaded Rt 100 Rt 100 BREtEd R3.6.28
FE(EEH) (b4 yry IMET I BmHEEd[ 100 BmHEEd[ 100 BREEd R3.6.9
HEICET NP RS PY P PN XE RHEd[ 100 RHEd[ 100 BmHEEd R3.6.22
HEACEI NP REPYP N RE Rt 100 Rt 100 BREtEd R3.6.22
FEICET NP R PP N XE BmHEEd[ 100 BmHEEd[ 100 BmEEd R3.6.25
HEICET NP RSPV PN XE RHEd[ 100 RHEd[ 100 BHEd R3.6.29
HFEEEH) |[YVv15y IMET INE BmHEEd[ 100 BmHEEd[ 100 BREtEd R3.6.7
FEICET NP AP IMEST INE RHEY[ 100 RHEY[ 100 BmEEd R3.6.8
HEACEI NP REPYP IMEST INE Rt 100 Rt 100 BREtEd R3.6.15
FxE(FExH) | HVvA45y IMET INE BmHEEd[ 100 BmHEEd[ 100 BREEd R3.6.17
HEACET NP RSPV IMET INE RHEY[ 100 RHEY[ 100 BmHEEd R3.6.21
HEACELI NP REPYP IMET INE Rt 100 Rt 100 BREtEd R3.6.22
FE(EEH) (b4 yry IMET INE BmHEEd[ 100 BmHEEd[ 100 BmEEd R3.6.23
HEACET PRSPV IMET INE RHEEY[ 100 RHEY[ 100 BmEEd R3.6.29
HEACELI NP REPYP IMET INE Rt 100 Rt 100 BREtEd R3.6.30
R (EFH) (v yry KE E/MUA | BHEY[ 100 BmHEEd[ 100 BmEEd R3.6.29
HEICET NP RS PY P PN F/NLUE RHE9[ 100 RHEd[ 100 BmHEEd R3.6.29
FEEEH) | YV y5Yy N /LA Rt 100 R3] 100 BREtEd R3.6.29
HEAC ET NP RS PP KE E/MUA | BHES[ 100 BmHEEd[ 100 BmEEd R3.6.29
HEACEI NP REPYP PN /IMEH RHEd[ 100 RHEd[ 100 BHEd R3.6.14
HFEEEH) |15y N /MEH BmHEEd[ 100 BmHEEd[ 100 BmEtEd R3.6.15
HEACET NP RSPV IMET 15| RHEY[ 100 RHEY[ 100 BRHEEd R3.6.18
HEACEI NP REPYP IMEST 15 H Rt 100 Rt 100 BREtEd R3.6.25
HeAC ELT NP RSP N T/MUA | BEHEY[ 100 BmHEEd[ 100 BREEd R3.6.23
FEICET NP AP S ®*H RHEY[ 100 RHET[ 122 BT R3.6.4
HEACEI NP REPYP JEH AIEIJI Rt 100 Rt 100 BREtEd R3.6.8
FE(EEH) (b4 yry JEHE miIE]I BmHEEd[ 100 BmHEEd[ 100 BREEd R3.6.24
HEACET PRSPV N B RHEY[ 100 RHEY[ 100 BmHEEd R3.6.21
HEACEI NP REPYP KE i Rt 100 Rt 100 BREtEd R3.6.28
R (EFH) (v yry f o] X HEE BmHEEd[ 100 BmHEEd[ 100 BREEd R3.6.22
HEICET NP RS PY P JEME s RHEd[ 100 RHEd[ 100 BmHEEd R3.6.22
FEEEH) |V y5y JEH FHE R3] 100 R3] 100 BREtEd R3.6.30
FE(EFEZXEH) (VI kY =% #H BmHEEd[ 100 BmHEEd| 155 BmEEd R3.6.3
HEACEZ PRSIy s =H RHEd[ 100 RHET[ 117 BmEeEd R3.6.3
FEEZEH) |TUhD IMEST INE BmHEEd[ 100 BmHEEd[ 100 BREEd R3.6.22
FEExEH) U N F/NLUE RHEY[ 100 RHEY[ 100 BRHEEd R3.6.25
FEEXEH) |k a3 #H Rt 100 Rt 100 BREtEd R3.6.29
FREEH) |TUbY JEHE EE BmHEEd[ 100 BmHEEd[ 100 BmEEd R3.6.29
FEACEZ NPEPI==LNE=F H RHEY[ 100 RHES[ 100 BmHEEd R3.6.11
HxE(EXRH) | Xvi—= a2 ¥ H RHEd[ 100 3| 121 BRHET R3.6.17
FEEXH) | Avx—= IMET INE BmHEEd[ 100 BmHEEd[ 100 BREEd R3.6.29
FEEXRH) | Xvx—= PN F/NLUE RHE9[ 100 RHEd[ 100 BmHEEd R3.6.15
FxEEZRH) | Xvx—= PN /LA RHEY[ 100 RHEY[ 100 BREtEd R3.6.17
FEEXRH) | Avx—= N Hr BmHEEd[ 100 BmHEE[ 120 BT R3.6.4
R EXRH) | Xvx—= —H#HE B RHEd[ 100 RHET[ 121 BmHEEd R3.6.15
FE(EEH) | XvdF—= Z#H Z#H Rt 100 Rt 124 BREtEd R3.6.4
FEEXRH | Avx—= G 78Il BmHEEd[ 100 BmHEEd| 119 BT R3.6.2
FEEXRH) | Xvx—= a2l A RHEd[ 100 RHET[ 119 BHeEd R3.6.14
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(BAfL: RO JL/kg)

s o FRER T B E B B E B BIEE ——
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FEEXRH) | Xvx—= =% A BRHEY[ 100 BREHET] 117 BmHEEd R3.6.15
FE(EEH) | XvdF—= a3 #H BmHEEd[ 100 BmHEEd[ 100 BREtEd R3.6.18
FEEXRH) | Avi—= =i R H BmHEEd[ 100 BmHEEd[ 100 BT R3.6.24
R EXRH) | Xvx—= KA (e BHEd R3.6.15
FE(EEH) | XvdF—= i EE BmHEEd[ 100 BmHEEd| 119 BmEEd R3.6.18
FEEXRH | Avi—= =% STE BmHEEd[ 100 BmHEEd[ 100 BmEEd R3.6.16
Hx(EXH) | Xvi—= =% xR RHEd[ 100 RHEd[ 100 BmHeEd R3.6.15
xR (EEH) | XvdF—= £ 1 H BmHEEd[ 100 BmHEEd[ 100 BmEtEd R3.6.11
FEEXH) | Avx—= EH H RHEY[ 100 RHEY[ 100 BREEd R3.6.7
xR EXH) | RFVITIVEY [REA ¥ H Rt 100 Rt 100 BREtEd R3.6.8
FE(EEH) [RFyvHvI kY | KRB id53 BmHEEd[ 100 BmHEEd[ 100 BmEEd R3.6.4
FEACET NESDVEAVINGEFT: H RHEY[ 100 RHES[ 100 BmHEEd R3.6.8
R (EXH) | RFVIrIHASUIERA B Rt 100 Rt 100 BREtEd R3.6.30
R EFXRE) |RFYITIUEY [ KE R H BmHEEd[ 100 BmHEEd[ 100 BT R3.6.4
FEEXRH | RFYITIUEY [IZHHE Z3#H R3] 100 R 124 BEEd R3.6.7
Fx(BXRH) |RFTYIIUEY (B#E #H BmHEEd[ 100 BmHEEd[ 100 BREtEd R3.6.1
HEACETNIES P AN EET:] EE BmHEEd|[ 100 BmHEEd[ 100 BmEEd R3.6.2
FRERH) |RFYITIUED (AR =H RHEd[ 100 RHEd[ 120 BHEd R3.6.2
FEREZEH) |YFIA PN L/MUA | BEHEY[ 100 BmHEEd[ 100 BREEd R3.6.11
HEACET NEEESS Kif SITE BmHEEd[ 100 BmHEEd[ 100 BmEEd R3.6.14
HEACEL IERE s £ SITE BREET R3.6.14
FEEEH) |9 T KA SIAE BmHEEd[ 100 BmHEEd[ 100 BREEd R3.6.29
EHEACET NP FE H i RHEY[ 100 RHET[ 127 BREEd R3.7.1
BHREZFH) |koAZY KA SITE Rt 100 Rt 100 BREtEd R3.6.14
HEACET MY N E/MUA | BHEY[ 100 BmHEEd[ 100 BmEEd R3.6.21
FEEXEH) kb [HH A EHHHE RHES[ 100 RHEY[ 100 BmHEEd R3.6.11
R EEH) |k a3 ¥ H Rt 100 Rt 100 BREtEd R3.6.25
FE(EFEZEH) |k =% ¥ H BmHEEd[ 100 BmHEEd[ 100 BREEd R3.6.25
FE(EXEH) kb KA ST RHEd[ 100 RHEd[ 100 BmHEEd R3.6.28
HEREEH) |k i REIR Rt 100 R 127 BREtEd R3.6.2
FxE(ExH) vk =% KAR BmHEEd[ 100 BmHEET[ 121 BmEEd R3.6.11
EHEACET NN =% RKAR RHEd[ 100 RHEd[ 118 BHEd R3.6.18
HEEEH) |k a3 dbtEHE BmHEEd[ 100 BmHEEd[ 100 BREtEd R3.6.28
T (RxEH) kb Kif K2 I% RHEY[ 100 RHEY[ 100 BmEEd R3.6.29
R ExH) |k IMEST 15 H Rt 100 Rt 124 BT R3.6.30
FE(EXE$H) [k Z#H Z#H BmHEEd[ 100 BmHEEd[ 120 BREEd R3.6.8
EHEACEZ MR —#HE —#HE RHEY[ 100 RHEY[ 118 BmHEEd R3.6.10
R ExH) |k -3 H -3 H Rt 100 Rt 116 BREtEd R3.6.29
FR(EEH) |k b=b. £ H BmHEEd[ 100 BmHEEd[ 117 BmEEd R3.6.8
EHEACEX MR i (el RHEEY[ 100 RHEY[ 100 BmEEd R3.6.22
HEREEH) |k i) RtR Rt 100 RHEET| 121 BREtEd R3.6.15
FREEH) |k i) RtlR BmHEEd[ 100 BmHEEd 124 BmEEd R3.6.21
EHEACEX MR X B RHE9[ 100 RHET[ 119 BmHEEd R3.6.8
FEExH) |k L B\ Rt 100 9| 125 BREtEd R3.7.1
FREEH) |k KA X HEE BmHEEd[ 100 BmHEEd[ 100 BmEEd R3.6.28
HEACEX RN KA XHE RHEd[ 100 RHEd[ 100 BHEd R3.6.30
HE(BEH) |[TAFX i) i BmHEEd[ 100 BmHEET[ 120 BmEtEd R3.6.25
BEEXRH) |FHFX FE H Fi RHEY[ 100 RHEY[ 120 BRHEEd R3.6.28
HEEZXH |FAFX i A Rt 100 Rt 100 BREtEd R3.6.25
FxE(EFEZXEH) [FR [HTHA EHH BmHEEd[ 100 BmHEEd[ 100 BREEd R3.6.8
FEEXH) [FR XE /I H RHEY[ 100 RHEY[ 100 BT R3.6.29
HREEH) |[FX i H = Rt 100 RHt9| 125 BREtEd R3.6.8
FxE(ExEH) [FR ire] RH BmHEEd[ 100 BmHEEd 124 BREEd R3.6.9
FEEXH) [FR FE H RH RHEY[ 100 RHET[ 121 BmHEEd R3.6.10
HFEREEH) |FX i) RH Rt 100 Rt 120 BREtEd R3.6.16
FxE(EFEZXH) [FR i) RH BmHEEd[ 100 BmHEEd| 119 BREEd R3.6.16
FEEXH) [FR FE H Fi RHEd[ 100 RHEd[ 118 BmHEEd R3.6.29
HFEREEH) |FX i) FiE R3] 100 Rt 123 BREtEd R3.6.30
FR(EFEZXH) [FR f o] =0 BmHEEd[ 100 BmHEEd[ 100 BmEEd R3.6.24
HEEXH) |FX =% ¥ H RHEd[ 100 RHEd[ 100 BmEeEd R3.6.23
FEEZEH) |[FX b=b. i BmHEEd[ 100 BmHEEd[ 100 BREEd R3.6.25
FE(ExH) [FR =i ¥ H RHEY[ 100 RHEY[ 100 BRHEET R3.6.29
HREEH) |[FX KA JITE Rt 100 Rt 100 BREtEd R3.6.28
FxR(FEZXxH) [FR i RER BmHEEd[ 100 BmHEEY| 122 BmEEd R3.6.14
FEEXH) [FR =% AAR RHEY[ 100 RHEY[ 118 BmHEEd R3.6.24
HEREEH) |FX a3 RKAR Rt 100 Rt 100 BREtEd R3.6.21
FxE(ExH) [FR b=b. KAR BmHEEd[ 100 BmHEEd[ 100 BREEd R3.6.21
FEEXH) [FR =% KAR RHE9[ 100 RHE9[ 100 BmHEEd R3.6.24
HFEREEH) |[FX a3 RKAR BREtEd 100 [#HET 10.0 BREtEd R3.6.29
FxE(EFEZXEH) [FR IMET INE BREEd 100 [#HET 10.0 BT R3.6.24
FEEXH) [FR IMET INE B9 100 | BHEY 10.0 BmHEEd R3.6.22
HFEREEH) |[FX i A BREtEd 100 [#HEd 11.6 BREtEd R3.6.21
FE(EFEZxH) |FX ZDih sERET B9 100 [#HET 11.5 BT R3.6.14
FEEXH) |FR N 4 /LA [ BHEET 100 | BHEY 13.1 BHeEd R3.6.22
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FEEXH) [FR XE /LA | BREET 100 | HBHET 10.0 BmHEEd R3.6.30
HFEREZEH) |[FX N /LA [ BEET 100 [#HET 10.0 BREtEd R3.6.15
FE(EFEZXH) |[FX KE /LA | BREET 100 [#HET 10.0 BT R3.6.15
FEEXH) [FR N4 E/ANUA | BREHET 100 | BHEY 10.0 BHEd R3.6.18
HFEEEH) |FX XE /LA [ BREET 100 [#HET 10.0 BmEEd R3.6.18
FEEZXEH) |[FX N /LA | BREET 100 [#HET 10.0 BmEEd R3.6.23
BFREEH) |FR KK /LA | BEET 100 | BHET 10.0 BREET R3.6.25
FEEEH) |FX £ P A BmEtEd 100 [#HEd 10.0 BmEtEd R3.6.11
FE(ExH) [FR Kif A B9 100 [#HET 10.0 BREEd R3.6.16
BREEH) |FR XE /MEH BREtEd 100 [#HH+ET 11.5 BREtEd R3.6.24
FxE(EZXxH) [FR N /MEH BmEEd 100 [#HET 10.0 BmEEd R3.6.23
FEEXH) [FR Kif 5 B9 100 [#HHET 10.0 BmHEEd R3.6.14
HRExH) |[FX KA 5 BREET 100 [#HET 10.0 BREtEd R3.6.16
FxE(FEZXxH) [FR KA Ek BREtEd 100 [#HET 10.0 BT R3.6.17
FEEXH) [FR Kif HX B9 100 | BHEY 10.0 BmEEd R3.6.29
FEREEH) |FX ] /e BREtEd 100 [#HEd 10.0 BREtEd R3.6.14
HEACET NS Kif /i BT 100 [#HET 10.0 BmEEd R3.6.14
FEEXH) [FR =% B B3 100 | BHEY 10.0 BHEd R3.6.28
HEREEH) |FX Z#H #E 4 i BREtEd 100 [#HET 13.8 BREEd R3.6.16
R (ExH) [FR —#HE $E~ [ B9 100 [#HET 11.6 BmEEd R3.6.29
BFREEH) |FR IMET iz BREET 100 | BHET 12.8 BREET R3.6.28
FxE(EXEH) [FXR LR hEiR BHEY 100 [#HET 10.0 BREEd R3.6.25
FE(ExH) [FR Kif KA B9 100 [#HET 10.0 BREEd R3.6.28
HREEH) |[FX A £ BREET 100 [#HET 10.0 BREtEd R3.6.30
FxE(EFEZXxH) [FR Z3#H Rl BT 100 [#HET 12.2 BmEEd R3.6.14
FEEXH) [FR —3#HE hzalll B9 100 [#HHET 12.1 BmHEEd R3.6.24
HEREEH) |FX Z#H Z#H BmEtEd 100 [#HET 12.5 BREtEd R3.6.9
FxE(ExH) [FR Z3#H Z3#H BT 100 [#HET 15.4 BREEd R3.6.21
FEEXH) [FR —3#HE —3#HE B9 100 |BHEY 11.7 BmHEEd R3.6.22
HFEREEH) |FX Z#H Z#H BmEtEd 100 [#HET 11.5 BREtEd R3.6.22
FEEZXH) |[FX Z#HE Z#HE BT 100 [#HET 11.5 BmEEd R3.6.23
FEEXH) [FR —H#HE —H#HE B3 100 | BHEY 10.0 BHEd R3.6.30
HFEEZEH) |[FX G G 1] BREtEd 100 [#HET 10.0 BREtEd R3.6.25
R (ExH) [FR =% HH B9 100 [#HET 11.6 BmEEd R3.6.28
HREEH) |FR P pufa) BREtEd 100 [#HH+Ed 12.3 BREtEd R3.6.28
FxE(FEZXH) [FR =% A E BmEtEd 100 [#HET 12.1 BREEd R3.7.1
FE(ExH) [FR JEM EE B9 100 [#HET 10.0 BmHEEd R3.6.23
HREEH) |FX G *RH BmEtd 100 [#HET 10.0 BREtEd R3.6.30
FxR(EZXx$H) [FR i RH BT 100 [#HET 11.4 BmEEd R3.7.1
FEEXH) [FR Kif BE B9 100 | BHEY 10.0 BmEEd R3.6.11
HEREEH) |FX B BE BREET 100 [#HHET 10.0 BREtEd R3.6.16
FxE(FEXEH) [FR f o] BE B9 100 [#HET 10.0 BmEEd R3.6.17
FEEXH) [FR KA BE B9 100 | BHEY 10.0 BmHEEd R3.6.21
HFEREZEH) |FX KA BE BREtEd 100 [#H+Ed 10.0 BREtEd R3.6.21
FR(EZXH) [FR KA B®E BT 100 [#HET 10.0 BmEEd R3.6.21
BFREEH) |FR KA BE BREET 100 | BHET 10.0 BREET R3.6.22
FEEEH) |FX £ BE BmEtEd 100 [#HEd 10.0 BmEtEd R3.6.25
FE(ExH) [FR FE H REE B9 100 [#HET 11.8 BRHEEd R3.6.17
BFREEH) |FR FiE RtR BREET 100 [#HH+Ed 10.0 BREtEd R3.6.22
FxE(EFEZXEH) [FR i) RtlR BmEtEd 100 [#HHET 11.9 BREEd R3.6.25
FEEXH) [FR FE H RiE B9 100 [#HET 10.0 BT R3.6.30
HREEH) |[FX KA JEIA BmEtd 100 [#HET 10.0 BREtEd R3.6.17
FxE(ExEH) [FR N B BHEd 100 [#HET 10.0 BREEd R3.6.29
FEEXH) [FR i B\ B9 100 | HBHEYT 10.0 BmHEEd R3.6.28
HFEREEH) |FX a3 X BREtEd 100 [#HET 10.0 BREtEd R3.6.16
FxE(EFEZXH) [FR b=b. xiR BT 100 [#HET 10.0 BREEd R3.6.17
FEEXH) [FR =% xR B9 100 | BHEY 12.1 BmHEEd R3.6.25
HFEREEH) |FX a3 xiR BREtEd 100 [#H+Ed 10.0 BREtEd R3.6.30
FR(EFEZXH) [FR b=b. | xiR B9 100 [#HET 11.5 BmEEd R3.7.1
HFREEH) |FR =8 xiR BREET 100 | BHET 10.0 BREET R3.6.21
FEEZEH) |[FX =% xR BREtEd 100 [#HEd 10.0 BREEd R3.6.25
FE(ExH) [FR Kif XA B9 100 [#HET 10.0 BRHEEd R3.6.16
HREEH) |[FX KA X HEF BREET 100 [#HHET 10.0 BREtEd R3.6.25
FxR(FEZXxH) [FR KA X HEF BT 100 [#HET 10.0 BmEEd R3.6.25
FEEXH) [FR Kif XA B9 100 [#HHET 10.0 BmHEEd R3.6.28
HEREEH) |FX KA e BmEtEd 100 [#HET 10.0 BREtEd R3.6.18
FxE(ExH) [FR KA 1 H BT 100 [#HET 10.0 BREEd R3.6.24
FEEXH) [FR i ax1R B3 100 | BHEY 12.2 BmHEEd R3.6.24
HFEREEH) |[FX B VAN i3 BREtEd 100 [#HET 11.8 BREtEd R3.6.23
FRExEH) =PV b=b. ¥ H BREEd 100 [#HET 10.0 BT R3.6.25
FEEEH) =DV KA 1 H B9 100 | BHEY 10.0 BmHEEd R3.6.30
FEREZxH) == KA SIAE BREtEd 100 [#HEd 10.0 BREtEd R3.6.14
FEEFExH) |=o= KA /hep B9 100 [#HET 10.0 BT R3.6.16
xR (EFEFH |=>=y KA /heh B3 100 | BHEY 10.0 BHeEd R3.6.16
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EEMEFICES TS EBZBERER
SH3ES HAIE
(BAfL: RO JL/kg)

s o FRER T B E B B E B I E B ——
Sk H wis | FRER | pomnisa) | evvaien  |esmsamm| WER
B R RE B R RE

FEEZEH) == KA KA BRHET 100 | HBHET 10.0 BmHEEd R3.6.10
FEEZxH) == KA X HEF BREtEd 100 [#HET 10.0 BREtEd R3.6.7
FE(EFEEH) |=o= KA 1 H BT 100 [#HET 10.0 BT R3.6.23
FE(BEH) |1\ JUB Kif RH B3 100 |BREET 10.0 BHEd R3.6.18
HEACEZIRDP) £ X HEF BmEtEd 100 [#HET 10.0 BmEEd R3.6.28
HE(EEH) E—Y KA B BT 100 [#HET 10.0 BmEEd R3.6.18
HEEXEH) | E—<v Fig RH BRHET 100 | HBHEd 10.0 B3 R3.6.15
HE(BREH) |[E—<v b=b. ¥ H BmEtEd 100 [#HEd 10.0 BmEtEd R3.6.25
HE(EEH) E—<V Kif STIE B9 100 [#HET 10.0 BREEd R3.6.18
HEREFH) |E—<> IMEST INE BREET 100 [#HH+ET 10.0 BREtEd R3.6.22
FEEEH) |E—<> N /LA [ BREET 100 [#HET 12.7 BmEEd R3.6.30
FHE(EEH E— N /LA | BREET 100 [#HHET 10.0 BmHEEd R3.6.17
HREFH) |E—<> KA = BmEtEd 100 [#HET 11.7 BT R3.7.1
FEEZRH |E—<> KA KA BREtEd 100 [#HET 10.0 BT R3.6.15
HE(FEEH) E—<> [Hf A hDET B9 100 | BHEY 11.7 BmEEd R3.6.30
HE(REH) |[E—<v Z#H Z#H BREtEd 100 [#HEd 12.1 BREtEd R3.6.18
FEEXRH) |[E—<> =i xR BT 100 [#HET 10.0 BmEEd R3.6.25
FEEEH) E—<v Kif XA B3 100 [#HHET 10.0 BHEd R3.6.28
HE(REH) |[E—<v i ] BREtEd 100 [#HET 12.2 BREEd R3.7.1
FE(EXxH) |7nya)— =i RKAR BRHEET R3.6.7
Fx (Ex$H) |DJoyva)— KA SITE BRHET 100 | HBHEd 10.0 BHEd R3.6.24
FEEXEH) |[Joya)— Fir H REE BHEY 100 | HBHEd 12.3 BREEd R3.6.30
FE(BEH) |SXFXR s B BRHET R3.6.24
FEEZXEH) E=Fav RE Hr BREET 100 [#HET 10.0 BREtEd R3.6.29
FE(EFEZXE$H) |S=rTbH EGaR EHH BT 100 [#HET 10.0 BmEEd R3.6.11
HEACET NS i RKER B9 100 [#HHET 11.8 BmHEEd R3.6.15
xR EXEH) |IS=kTE b=b. RKAR BREET 100 [#HET 12.2 BREtEd R3.6.9
FR(FEZXE$H) |IS=rTbH b=b. B BT 100 [#HET 10.0 BREEd R3.6.23
Frx(Bx$H) |IS=kTh =i B B9 100 |BHEY 10.0 BmHEEd R3.6.29
FEREEH) |IS=rTH KA KA BmEtEd 100 [#HET 10.0 BREtEd R3.6.30
FE(EFEEH) IS+ Z#HE Z#HE BT 100 [#HET 11.7 BmEEd R3.6.21
e (Bx$) |IS=kTh —H#HE —H#HE B3 100 [#HET 10.0 BHEd R3.6.28
xR (EXEH) |IS=hE i A BREtEd 100 [#HET 11.9 BREtEd R3.6.30
HEACET NS Kif BE B9 100 [#HET 10.0 BmEEd R3.6.7
FREx$H) |IS=rTk JEH FHE BREtEd 100 [#HH+Ed 10.0 BREtEd R3.6.7
FE(EZX$H) |ovFav KA KA BmEtEd 100 [#HET 10.0 BREEd R3.6.18
FE(EFEZXH) |SvFxav KA EXE] B9 100 [#HET 10.0 BmHEEd R3.6.7
FEE=XEH) |ovFav £ tEH BmEtd 100 [#HET 10.0 BREtEd R3.6.18
FxE(EZXxH) (AFX KA B®E BT 100 [#HET 10.0 BmEEd R3.6.17
HEACET NP IMET INE B9 100 | BHEY 10.0 BmEEd R3.6.15
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EEMEFICES TS EBZBERER
SH3ES HAIE
(BAfL: RO JL/kg)

s o FRER T B E B B E B BITEE ——
Sk H wis | FRER | pomnisa) | evvaien  |esmsamm| WER
B R RE B R RE

FECGEXRSH) 74N KA (e BRHET 100 [#H®HET 10.0 BmHEEd R3.6.16
B (EZFH) |[4HhEDF —3H sl BREtEd 100 [#HET 12.8 BREtEd R3.6.15
FEEXH) |FHEDF =% £ H BT 100 [#HET 12.9 BT R3.6.4
Pk (GEFF) [FAHTHA =% 2 H B3 100 | BHEY 10.0 BHEd R3.6.16
BHREFH) |HIF5T7— i) i BmEtEd 100 [#HET 12.2 BmEEd R3.6.15
P (EXRH) |HVI57— FE H Fi BT 100 [#HET 10.0 BmEEd R3.6.23
3 (EXRH) |[hUI759— AR | B9 100 [#HHET 12.2 BmHeEd R3.6.9
FEEEH) | Ty K& fHE BmEtEd 100 [#HEd 12.1 BmEtEd R3.6.7
R (EZEH) [Ty N fH B9 100 [#HET 10.0 BREEd R3.6.4
FREZH) | Ty FiE i BREET 100 [#HH+ET 12.3 BREtEd R3.6.2
FFE (EXEH) [Ty i) i: BmEEd 100 [#HET 11.7 BmEEd R3.6.9
R (EFEH) [Ty FE H il B9 100 [#HHET 12.7 BmHEEd R3.6.7
FREEH) | Ty KA SITE BmEtEd 100 [#HET 10.0 BREtEd R3.6.8
B (EXRH) [Ty KA i HE BREtEd 100 [#HET 10.0 BT R3.6.11
R (EFEH) [Ty Kif LiEHE B9 100 | BHEY 10.0 BmEEd R3.6.11
FEEEH) | Ty N /MEH BREtEd 100 [#HEd 10.0 BREtEd R3.6.15
B (EFRH) [Ty Kif Ek BT 100 [#HET 10.0 BmEEd R3.6.11
HEAEET N ER Y =% B B3 100 | BHEY 10.0 BHEd R3.6.14
FEEEH) | Ty a3 #B 4 [if] BREtEd 100 [#HET 11.6 BREEd R3.6.14
B (EXRH) [Ty IMEST iz B9 100 [#HET 12.6 BmEEd R3.6.9
FE(EXH) vy KA KA B9 100 [#HHET 10.0 BHEEd R3.6.1
X (EZXEH) [Ty G 7l BmEtEd 100 [#HET 12.2 BREEd R3.6.10
R (EZRH) [Ty i 78l B9 100 [#HET 12.9 BREEd R3.6.21
FE(EXH) | TRy JEH EE BmEtd 100 [#HET 10.0 BREtEd R3.6.4
FFE (EXEFH) [Ty KA BE BT 100 [#HET 10.0 BmEEd R3.6.4
R ERHH) | TRy Kif JEIA BRHEET R3.6.22
BFE (EZEH) | vy i FE] B9 100 | HBHEd 11.7 BRHET R3.6.18
B (EXEFH) [Ty =% SFE BT 100 [#HET 10.0 BREEd R3.6.25
FEEZRH) vy =% xR B9 100 |BHEY 11.9 BmHEEd R3.6.8
FEEEH) | TRy JEH HE BmEtEd 100 [#HET 10.0 BREtEd R3.6.30
FECEEXEH) | Favs N /NMEHA BT 100 [#HET 12.2 BmEEd R3.6.4
R EEFH) | Favs A iB B3 100 | BHEY 10.0 BHEd R3.6.16
B (EXR) (9o o594 IMET 7 BREtEd 100 [#HET 12.6 BREtEd R3.6.15
Pk (EXRH) (o894 [HH A hDET B9 100 [#HET 12.8 BmEEd R3.7.1
FE(EXH) |29 4 KA BE BREET 100 [#HH+Ed 10.0 BREtEd R3.6.17
FFEEXH) v b=b. B BmEtEd 100 [#HET 10.0 BREEd R3.6.29
¥ (EXRH) |avvT IMEST INE BmEET|] 100 [BEET 12.0 BRHEET R3.6.25
BREFH) |avvT JEH B EJI BmEtd 100 [#HET 10.0 BREtEd R3.6.29
P (EXFH) [oVF L ] BT 100 [#HET 13.0 BmEEd R3.6.8
PR EFH) [Y=—L4FX =% LiEHE B9 100 | BHEY 10.0 BmEEd R3.6.4
FEEERH) |[V=——L42X a3 Ll BmEtEd 100 [#HHET 10.0 BREtEd R3.6.4
FFEEXH) [Y=—L4FX KA B B9 100 [#HET 10.0 BmEEd R3.6.16
PR (EXRR) |[Y=—LA2X A% ax1R B9 100 | BHEY 12.2 BmHEEd R3.6.4
P (BEEH) |54 hwoLoyy [ KE /MEH BREtEd 100 [#H+Ed 10.0 BREtEd R3.6.29
PR (EXH) [(YobodA JEH A BT 100 [#HET 10.0 BmEEd R3.6.30
B (ExH) VY FiE H R H B9 100 [#HHET 12.9 BHEd R3.6.24
FEGEEH) |V i) i BmEtEd 100 [#HEd 12.7 BmEtEd R3.6.9
Fx(EXRH) |V IMET I B9 100 [#HET 12.1 BRHEEd R3.6.22
R GEEH) |V K& INE BREET 100 [#HH+Ed 11.9 BREtEd R3.6.16
FFEEXEH) |V KA A BmEtEd 100 [#HHET 10.0 BREEd R3.6.18
P GEXRH) |V ZDih ZLuh B9 100 [#HET 12.6 BT R3.6.11
B EEH) |V a3 EE 4 [if] BmEtd 100 [#HET 13.9 BREtEd R3.6.7
e (EXH) |V Z3#H #E 4 [if] BT 100 [#HET 11.6 BREEd R3.6.17
FEEXRH) |V IMET iz B9 100 | HBHEYT 12.5 BmHEEd R3.6.17
FEGEEH) |V IMET iz BREtEd 100 [#HET 10.0 BREtEd R3.6.9
FEEEH) |V G 78Il BT 100 [#HET 12.1 BREEd R3.6.11
HEAEEZ NPV EH EE B9 100 | BHEY 10.0 BmHEEd R3.6.2
FEGEEH) |V KA P2 A BREtEd 100 [#H+Ed 10.0 BREtEd R3.6.14
Pk (EXEH) [PV KA JEIA B9 100 [#HET 10.0 BmEEd R3.6.22
B (EXH) |V s #E B9 100 [#HHET 12.3 BmEeEd R3.6.18
FEGEEH) |V G B\ BREtEd 100 [#HEd 11.9 BREEd R3.7.1
Frx(EXRH) |V =% xR B9 100 [#HET 12.4 BRHEEd R3.6.17
HEACEEX NIPEPE Y XE /LA | BEET 100 [#HHET 10.0 BREtEd R3.6.23
HEAE T NPEVE Y KA = BT 100 [#HET 11.9 BmEEd R3.6.22
PP (EXRH) |avF¥y =% HH B9 100 [#HHET 12.7 BmHEEd R3.6.4
HEACEE X NIPEPEY) KA B BREET 100 [#HET 10.0 BREtEd R3.6.16
BPIE (FEEE) [RF1vvt=3— L[ KE F/hLA [ BREET 100 [#HET 10.0 BREEd R3.6.11
FEEZRH) | RT1vot2=a—L|ZD{h ZLuh B3 100 | BHEY 12.3 BmHEEd R3.6.30
R (EXH) | RT1vot=3—IL [ 1 H BREtEd 100 [#HET 10.0 BREtEd R3.6.7
FEEXH) |FrroH4 KE F/LUA [ BREET 100 [#HET 12.2 BT R3.6.14
FPE (EHL) [YILLSY X e H (i B9 100 | BHEY 11.9 BmHEEd R3.6.21
B (EEH) |YILLSHYFE IMET INE BREtEd 100 [#HEd 12.2 BREtEd R3.6.24
¥ GEEH) [VILLSYX Z3#H Rzl B9 100 [#HET 12.5 BT R3.6.24
FPaE (EHL) [YILLSY X =% A B3 100 | BHEY 10.0 BHeEd R3.6.24
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EEMEFICES TS EBZBERER
SH3ES HAIE
(BAfL: RO JL/kg)

s o FRER T BIEE B E B I E B —
Sk H wis | FRER | pomnisa) | evvaien  |esmsamm| WER
B R RE B R RE

FPaE (GEFLE) [YILLSY X =% A BRHET 100 | HBHET 11.9 BmHEEd R3.6.25
FFE (EXRHR) |YILLSYF i) MR BREtEd 100 [#HET 12.1 BREtEd R3.6.4
FE GEEH) [VILLSYX b=b. STE BT 100 [#HET 11.7 BT R3.6.29
PP (EHLE) [YILLSY X =% xR B3 100 [#HHET 11.8 BHEd R3.6.21
BPiE (FERE) |YILLSHYX a3 xiR BmEtEd 100 [#HET 10.0 BmEEd R3.6.22
R (EXRH) |YILLSHYFX Kif XA BT 100 [#HET 10.0 BmEEd R3.6.21
HEAEET P ESs KA A B9 100 | HBHEd 10.0 B3 R3.6.16
B (EZEH) |[FHARTE £ A BmEtEd 100 [#HEd 10.0 BmEtEd R3.6.16
R (EXRRH) |[FHRT =% HH B9 100 [#HET 10.0 BREEd R3.6.29
BRCEFH) | =10+ i i BHeEd 100 | HBHEd 115 BRHET R3.6.11
HEAEETNESS KA id53 BmEEd 100 [#HET 10.0 BmEEd R3.6.15
P (EEH) |»¥ KA EE B9 100 [#HHET 10.0 BmHEEd R3.6.25
B EEH) |/\I9A4 KA et BmEtEd 100 [#HET 10.0 BREtEd R3.6.10
P (EXH) (oY A KA i HE BREtEd 100 [#HET 10.0 BT R3.6.10
¥k (GEXRH) [\ HYA Kif LiEHE B9 100 | BHEY 10.0 BmEEd R3.6.10
BEEEH) |/1\I9A4 ] ] BREtEd 100 [#HEd 10.0 BREtEd R3.6.22
Pk (GEXEH) [\ HYA Fig RiE BT 100 [#HET 12.2 BmEEd R3.6.16
FrE (EXRHE) 1\ IYA i B\ B3 100 |BREET 11.6 BHEd R3.6.16
BEEEH) /o944 £ 1 H BREtEd 100 [#HET 10.0 BREEd R3.6.22
P (GEXR) [\ S DA B9 100 [#HET 12.8 BmEEd R3.6.4
B (EXEH) |1\ PN E/ANMUA [ BEHET [ 100 | BRHET 145 BHEd R3.6.9
P (EX$H) [\t JEH HE BmEtEd 100 [#HET 10.0 BREEd R3.6.25
B (EEH) |[Joyay— Fig i BEET|] 100 [HBEET 12.1 BRHET R3.6.8
$x (EX$) |7ova)— i H FiE BREET 100 [#HET 12.3 BREtEd R3.6.10
xR (EEFRFH) |Fayal)— i) =i BT 100 [#HET 12.4 BmEEd R3.6.17
¥ (ExFH) |[2nval)— =% ¥ H B9 100 [#HHET 10.0 BmHEEd R3.6.8
$x (EXF) |Doyvay)— a2 ¥ H BHEY 100 | HBHEd 10.0 BRHET R3.6.1
¥k (EXRFH) |F7ayal)— IMEST I BT 100 [#HET 10.0 BREEd R3.6.2
¥ (ExFH) |2nvya)— KA KA B9 100 |BHEY 10.0 BmHEEd R3.6.1
$x (EXF) |[Jova)— a3 #H BmEtEd 100 [#HET 12.2 BREtEd R3.6.25
¥ (EXRFH) |7nvyal)— KA B BT 100 [#HET 10.0 BmEEd R3.6.2
¥ (EXFH) |2oya)— KA BE B3 100 [#HET 10.0 BHEd R3.6.4
¥ (EXEFH) |Jnyal)— AL FE BREtEd 100 | HHEd 13.9 BREtEd R3.6.8
¥ (EXRFH) |7nyal)— A% B\ B9 100 [#HET 12.0 BmEEd R3.6.25
$x (EX$) |Jova)— £ X HEF BREET 100 [#HH+Ed 10.0 BREtEd R3.6.2
P (EXE$) |[koLrvyw KA 1 H BmEtEd 100 [#HET 10.0 BREEd R3.6.22
P (ExH) 52X+ #ig i BmEET|] 100 [BEET 12.0 BRHEET R3.6.3
Pk (GEXF) |EXF RE /MEH BmEtd 100 [#HET 10.0 BREtEd R3.6.29
P (EXH) E=/\ o84 ZDHh L BT 100 [#HET 13.3 BmEEd R3.6.7
P (EXRFH) (LTI RV (KB BE B9 100 | BHEY 10.0 BmEEd R3.6.15
FE(EXEH) |EONY Z#HH El BmEtEd 100 [#HHET 13.6 BREtEd R3.6.22
FFE(EZXEH) [EON Y Z3#H Rl B9 100 [#HET 10.0 BmEEd R3.6.23
¥k (EFH) [EOnN(Y =% #H BmHEEd R3.6.30
FE(EXRH) |EONY L =RH BREtEd R3.6.24
¥ (EXRFH) [EONAY FE H [N BmEEd R3.6.29
X (EXH) |EOnd Y RiB xR BHEY R3.6.17
B (EEH) |U—TLER i) it BmEtEd 100 [#HEd 12.1 BmEtEd R3.6.10
Pk (EXF) [J—TLEX =i B B9 100 [#HET 10.0 BRHEEd R3.6.29
BRECEFH) |U—TLAEX s e B3 100 | HBHEYd 12.1 BHEd R3.6.9
B (EXFH) [LEX KE HE BmEtEd 100 [#HHET 10.0 BREEd R3.6.4
FEEXRH) LR e H RiE B9 100 [#HET 12.3 BT R3.6.2
FREEH) |ILFX a3 SFE BmEtd 100 [#HET 12.1 BT R3.6.8
P (EZXFH) [LEX JEE FHE BT 100 [#HET 10.0 BREEd R3.6.10
P GEXRH) |E=5 Kif /\eh B9 100 | BHEY 10.0 BmHEEd R3.6.9
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REVFICBTIRHAMEMERZAERR

SHM3FE6HBAIE

(BAfL: RO JL/kg)

s o FRER T B E B B E B BITEE —
Sk H wis | FRER | pomnisa) | evvaien  |esmsamm| WER
B R RE B R RE

P (EEH) |DvhHALE KA LiEHE BRHET 100 | HBRHET 10.0 BmHEEd R3.6.11
B (EZEH) |DvA(AE KA LA BREtEd 100 [#HET 10.0 BREtEd R3.6.11
HEAEET N ESS N HE BT 100 [#HET 10.0 BT R3.6.9
B (EXRFH) |[AIRE N I H B3 100 | BHEY 10.0 BHEd R3.6.22
B (EZEH) |A9rF¥ i) i BmEtEd 100 [#HET 11.7 BmEEd R3.6.16
HEAEE T NMEEESS FE H Fi BT 100 [#HET 12.2 BmEEd R3.6.28
Fx (EXRH) |AIRE =% ¥ H B9 100 [#HHET 11.7 BmHeEd R3.6.15
B (EZEH) |49 IMEST I BmEtEd 100 [#HEd 10.0 BmEtEd R3.6.24
HEAEE T NMEEESS A% KER BREEd R3.6.16
Fx (EXRH) |[AIRE XE /L BREtEd 100 [#HH+ET 12.4 BT R3.6.10
HEAEET NMEEESS ZDHh L BmEEd 100 [#HET 12.0 BmEEd R3.6.28
HEACEE T Nk ESS B A FEE B9 100 [#HHET 12.0 BmHEEd R3.6.14
PR (EFH) |AYRT Z3#H #E 4 ] BmEtEd 100 [#HET 11.8 BREtEd R3.6.2
HEAEET MR ESS Z3#H #E 4 [if] BREtEd 100 [#HET 12.0 BT R3.6.21
PR (EXRHH) |[AIRE Z3#H SE~ [ B9 100 | BHEY 11.8 BmEEd R3.6.22
B (EZEH) |A9rF¥ K& Hr BREtEd 100 [#HEd 11.6 BREtEd R3.6.9
HEACEE T N ESS IMEST iz BT 100 [#HET 12.2 BmEEd R3.6.10
R (EXRFH) |[AIRE IMEST 17 B3 100 | BHEY 10.0 BHEd R3.6.8
B (EZEH) |89 —3HH sl BREtEd 100 [#HET 101.0 BREEd R3.6.25
HEAEE T NMEEESS IMEST —#HE B9 100 [#HET 11.8 BmEEd R3.6.17
X (EXRH) |[AIRE -3 H I—3#HE B9 100 [#HHET 115 BHEEd R3.6.4
HEAEE T NMEEESS Z#H Z#H BmEtEd 100 [#HET 11.7 BREEd R3.6.11
HEAEE TN ESS Z3#H Z3#H B9 100 [#HET 11.5 BREEd R3.6.11
PR (EFH) |AYRT —3#H -3 H BmEtd 100 [#HET 11.7 BREtEd R3.6.11
HEAEET NMEEESS Z3#H Z3#H BT 100 [#HET 13.0 BmEEd R3.6.16
HEACEE TNk ESS —3#HE —3#HE B9 100 [#HHET 11.4 B3 R3.6.21
B (EXEH) |A9r¥ Z#H Z#H BmEtEd 100 [#HET 11.5 BREtEd R3.6.21
HEAEE T NMEEESS G 7aJIl BT 100 [#HET 11.6 BREEd R3.6.2
PR (EXRFH) |[AIRE A% 78l B9 100 |BHEY 10.0 BmHEEd R3.6.23
R EFH) | AT b=b. #H BmEtEd 100 [#HET 11.8 BREtEd R3.6.9
HEACEET N ESS =% #H BT 100 [#HET 12.3 BmEEd R3.6.10
B (EXRFH) |[AIRFE =% 2 H B3 100 | BHEY 11.9 BHEd R3.6.11
B (EZEH) |A9rT JEH EE BREtEd 100 [#HET 10.0 BREtEd R3.6.17
HEAEE T N ESS EH EE B9 100 [#HET 10.0 BmEEd R3.6.17
B (EXRH) |[AIRE R KH BRHET 100 | HBHEd 124 BHEd R3.6.8
HEAEETNMEEESS Lk XH BmEtEd 100 [#HET 12.2 BREEd R3.6.11
PR (EXRH) |[AIRFE FE H REE B9 100 [#HET 10.0 BmHEEd R3.6.24
B (EZEH) |Avr¥ i FE B9 100 | HBHEd 12.1 BHEd R3.6.17
HEAEET NMEEESS b=b. STE BT 100 [#HET 10.0 BmEEd R3.6.23
R (EXRFH) |[AIRE =% xR B9 100 | BHEY 12.1 BmEEd R3.6.11
R (EFH) |AIXRT a3 xR BREET 100 [#HHET 11.9 BREtEd R3.6.18
HEAEET MR ESS b=b. x; B9 100 [#HET 11.7 BmEEd R3.6.25
PR (EXRFH) |[AIRE A% ax1R B9 100 | BHEY 11.3 BmHEEd R3.6.17
B (EZEH) |A9r¥ L HX1R BREtEd 100 [#H+Ed 10.0 BREtEd R3.6.30
HEAEET NMEEESS [HHEA 7Bt BT 100 [#HET 11.8 BmEEd R3.6.9
X (EXH) |[FHRE INEST 17 B9 100 [#HHET 11.8 BHEd R3.6.29
B EEH == IMET 55 BmEtEd 100 [#HEd 12.7 BmEtEd R3.6.8
P (ExRHE) |=o=0 IMET I B9 100 [#HET 10.0 BRHEEd R3.6.25
BREEH) == i AEIR BREET 100 [#HH+Ed 11.8 BREtEd R3.6.17
FFE(EXH) == N /LA [ BREET 100 [#HHET 10.0 BREEd R3.6.2
PR (EEH) |=v=7 XE Hh B9 100 [#HET 10.0 BT R3.6.4
FxEEEH == RE Hh BmEtd 100 [#HET 10.0 BREtEd R3.6.15
P (EXEH) |=>=7 N Hh BT 100 [#HET 10.0 BREEd R3.6.24
Pk (EEH) |=v=¥ —3#HE Rl B9 100 | HBHEYT 12.2 BmHEEd R3.6.3
FxEEH == Z#H Z#H BREtEd 100 [#HET 12.0 BREtEd R3.6.11
P (EXEH) |=>=7 Z3#H Z3#H BT 100 [#HET 12.4 BREEd R3.6.17
P (EXRRH) == —3#HE —3#HE B9 100 | BHEY 11.9 BRHET R3.6.25
BEREEH) |=v=4 a3 #H BREtEd 100 [#H+Ed 12.0 BREtEd R3.6.21
R (EXH) =v=7 =% puiifas) B9 100 [#HET 10.0 BmEEd R3.6.23
FREEH) == JEH EE BREET 100 | BHET 10.0 BREET R3.6.18
BEEEH) |=v=4 G XH BREtEd 100 [#HEd 11.8 BREEd R3.6.23
P (ExRHE) |=o=0 FE H REE B9 100 [#HET 12.9 BRHEEd R3.6.15
BREEH) |=v=4 i FE] B9 100 | HBHEd 134 BRHET R3.6.11
FxE(EXH) == FiEs ] BT 100 [#HET 13.3 BmEEd R3.6.16
PR (EEH) |=v=/ i B B9 100 [#HHET 12.7 BmHEEd R3.7.1
BREEH) ==/ i i B3 100 | HBHEd 12.9 BRHET R3.7.1
e (EXEH) == [HHEA 7Bt BT 100 [#HET 12.1 BREEd R3.6.8
PR (EXEH) |=v=/ EH s B3 100 | BHEY 10.0 BmHEEd R3.6.4
FxEEH == JEH HE BREtEd 100 [#HET 10.0 BREtEd R3.6.17
HEAEETNESS Z3#H #B 4 [if] BREEd 100 [#HET 12.3 BT R3.6.21
P (EXRFH) | ¥ IMEST 17 B9 100 | BHEY 12.0 BmHEEd R3.6.23
B (EZEH) | ¥ —3#H sl BREtEd 100 [#HEd 11.7 BREtEd R3.6.24
HEAEETNESS JEH EE B9 100 [#HET 10.0 BT R3.6.2
¥k (EFEH) |SvFxav s AER B3 100 | BHEY 10.0 BHeEd R3.6.16
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REVFICBTIRHAMEMERZAERR

SHM3FE6HBAIE

(BAfL: RO JL/kg)

% o RE I B E B BIEE BIEE —
R H wis | FRER | pomnisa) | evvaien  |esmsamm| WER
B R RE B R RE
FE(EXEH) |5vFav a2 EE~ [ BEEd | 100 [HBEET 11.6 BmHEEd R3.6.11
FEEEH) |ov¥av a3 SFE BmEtEd 100 [#&HEd 12.5 BREtEd R3.6.8
P (EXEH) |ovFxavw JEHE FHE BT R3.6.29
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REVFICBTIRHAMEMERZAERR

SHM3FE6HBAIE

(BAfL: RO JL/kg)

s o FRER T B E B B E B BIEE ——
Sk H wis | FRER | pomnisa) | evvaien  |esmsamm| WER
B R RE B R RE

BEACGEZ NP KA ¥ H BRHET 100 | HBRHET 10.0 BmHEEd R3.6.10
¥ (BEF) |OhRD IMEST = BHEY 100 | HBHEd 10.0 BREtEd R3.6.25
FE@ERHE) |YI5UR JEE miIEJI BT 100 [#HET 10.0 BT R3.6.15
¥ (BE5H) |DvhAE =% ¥ H B3 100 | BHEY 12.2 BHEd R3.6.30
X (REH) |DvA(AE b=b. i BmEtEd 100 [#HET 10.0 BmEEd R3.6.15
HEACGET NIPA R G =i 3 H BT 100 [#HET 10.0 BmEEd R3.6.23
BEAREH) |DvAH(4E =3 ¥ H BREET 100 | BHET 10.0 BREET R3.6.29
X (MREH) |DvA(4E £ ¥ H BmEtEd 100 [#HEd 10.0 BmEtEd R3.6.10
FEGEXRRH) |O¥vHAE IMET RRE; B9 100 [#HET 12.4 BREEd R3.6.8
HEAGEXNPAT RS IMEST ST BREET 100 [#HH+ET 12.3 BREtEd R3.6.9
FEGEERRH) |OvHMAE KE /LA [ BREET 100 [#HET 12.3 BmEEd R3.6.25
FRAEXRH) |O¥vHAE =% LiEHE B9 100 [#HHET 10.0 BmHEEd R3.6.4
HEAGESNIPAT RS b=b. et BmEtEd 100 [#HET 10.0 BREtEd R3.6.4
FEGEERRH) |OvHAE KA A BREtEd 100 [#HET 12.2 BT R3.7.1
¥ (BE5) |DvhAE Kif P A B9 100 | BHEY 10.0 BmEEd R3.6.4
X (REH) |DvA(AE ] K2 I BREtEd 100 [#HEd 10.0 BREtEd R3.6.11
HEACGET NIPAY RS N /NMEHA BT 100 [#HET 12.1 BmEEd R3.6.22
¥ (BE5) |DvhAE N4 IMEHE B3 100 | BHEY 10.0 BHEd R3.6.25
X (REH) |DvA(AE N /MEH BREtEd 100 [#HET 10.0 BREEd R3.6.28
HEACGET NIPA RS XE /INMEHA B9 100 [#HET 10.0 BmEEd R3.6.23
HEAGEXNPAT RS [HTHA FHE BREET 100 | BHET 12.2 BREET R3.6.11
FEGEERRH) |OvHMAE =% B BmEtEd 100 [#HET 10.0 BREEd R3.6.14
¥k (BE%8) |DvhAE =i B B9 100 [#HET 10.0 BREEd R3.6.22
HEAGESINIPAT RS A = BmEtd 100 [#HET 12.4 BT R3.6.23
FEGEERRH) |OvHMAE KA = BT 100 [#HET 10.0 BmEEd R3.6.25
¥ (BE50) |DvhAE —3#HE EE~ [ B9 100 [#HHET 12.6 BmHEEd R3.6.25
HEAGESNIPAY ERS XE Hr BREET 100 [#HET 10.0 BREtEd R3.6.24
FEGEERRH) |OvHAE EGHR FH BT 100 [#HET 12.4 BREEd R3.6.18
FRAERMH) |O¥HAE KA KA B9 100 |BHEY 10.0 BmHEEd R3.6.18
HEAGEINIPAT RS Z#H sl BmEtEd 100 [#HET 12.2 BREtEd R3.6.23
HEACGET NIPAY R G Z#HE Z#HE BT 100 [#HET 10.0 BmEEd R3.6.16
¥ (BE5) |DvhAE —3#H —H#HE B3 100 | BHEY 10.0 BHEd R3.6.22
HEAGESINIPAV RS Z#H Z#H BREtEd 100 [#HET 12.2 BREtEd R3.6.24
FEAERRH) |O¥vHAE —#HE —#HE B9 100 [#HET 12.1 BmEEd R3.6.28
HEAGEXNPAY RS P #H BREtEd 100 [#HH+Ed 12.0 BREtEd R3.6.10
FEGEERRH) |OvHMAE =% £ H BmEtEd 100 [#HET 10.0 BREEd R3.6.22
FRAERH) |O¥vHAE =% H B9 100 [#HET 12.1 BmHEEd R3.6.23
HEAGESINIPAT RS a3 #H BmEtd 100 [#HET 12.5 BREtEd R3.6.29
FEGEERRH) |OvHMAE =% £ H BT 100 [#HET 10.0 BmEEd R3.6.30
¥ (BE%) |DvhAE JEE EE B9 100 | BHEY 10.0 BmEEd R3.6.17
HEAGESNIPATERS HE H RtR BREET 100 [#HHET 10.0 BREtEd R3.6.16
FHEACGES NIPAT R G KB ¥EIA BRHET R3.6.3
FRAERMH) |O¥HAE i 18 BRHEET R3.6.17
X (REH) |DvA(4E i B\ BREtEd 100 [#H+Ed 11.9 BREtEd R3.6.22
FE@AERRH) |OvHAE G B\ BT 100 [#HET 12.1 BmEEd R3.6.22
BEUREH) |OvAH(E =% xiR BREET 100 | BHET 12.2 BREET R3.6.9
HEAGEINIPAV RS b=b. xiR BmEtEd 100 [#HEd 12.2 BmEtEd R3.6.21
Pk (BE%8) |DvhAE =% xR B9 100 [#HET 12.3 BRHEEd R3.6.22
HEAGEXNPAY RS b=b. xiR BREET 100 [#HH+Ed 12.2 BT R3.6.23
FEGEERRH) |OvHMAE =% xR BmEtEd 100 [#HHET 10.0 BREEd R3.6.28
FRAEXRRH) |O¥vHAE =% xR B9 100 [#HET 11.9 BT R3.6.28
HEAGESINIPAT RS =8 xiR BREET 100 [#HET 10.0 BREtEd R3.6.25
FE GRS |OvHMAE KA X HEEF BT 100 [#HET 10.0 BREEd R3.6.23
¥ (BE%0) |DvhAE Kif 1 H B9 100 | HBHEYT 10.0 BmHEEd R3.6.14
HEAGESNIPAT RS KA & BREtEd 100 [#HET 10.0 BREtEd R3.6.18
FHEACGES NIPAT R G f o] 1 H BREEd R3.6.30
FRAERMH) |O¥HAE iy ax1R BRHET 100 | HBHET 10.0 BmHEEd R3.6.16
X (REH) |DvA(4E i HX1R BREtEd 100 [#H+Ed 10.0 BREtEd R3.6.23
FEGAERRH) |OvHMAE i e B9 100 [#HET 11.6 BmEEd R3.6.28
BEUREH) |DvAH(4E s i B9 100 [#HHET 10.0 BmEeEd R3.6.29
HEAGEI NPV RS JEHE HE BREtEd 100 [#HEd 11.8 BREEd R3.6.23
FEGERH) |O¥vHAE JEE H B9 100 [#HET 10.0 BRHEEd R3.6.29
¥E (BESH) |44 b=b. ¥ H BREtd 100 [#HHET 12.8 BREtEd R3.6.14
EHEACGETNER =P N /LA [ BREET 100 [#HET 12.3 BmEEd R3.6.7
FE@EXRH) S/ N /LA | BREET 100 [#HHET 10.0 BmHEEd R3.6.8
¥E (BE$H) |44 XE /MER BmEtEd 100 [#HET 12.7 BREtEd R3.6.2
HEACGETNER =P KE /MEH BT 100 [#HET 10.0 BREEd R3.6.8
EFEACGETNEE =D IMEST 17 B3 100 | BHEY 12.1 BmHEEd R3.6.7
¥rE (BESH) |44 £ £ BREtEd 100 [#HET 10.0 BREtEd R3.6.10
EHEACGETNER =P b=b. H BREEd 100 [#HET 11.5 BT R3.6.21
EEAGETNEE =D JEM EE B9 100 |BREET 10.0 BmHEEd R3.6.15
¥ (BESH) |44 a3 X BREtEd 100 [#HEd 10.0 BREtEd R3.6.23
HEAGETNEEESS KA 5 B9 100 [#HET 10.0 BT R3.6.11
BEACGESZ NEEESS a2l A B3 100 | BHEY 10.0 BHeEd R3.6.3
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REVFICBTIRHAMEMERZAERR

SHM3FE6HBAIE

(BAfL: RO JL/kg)

s o FRER T E = BIEE B E B BIEE —
Sk ® wis | FRER | pomnisa) | evvaien  |esmsamm| WER
B R RE B R RE

BEACGESZNEEESS Kif Ed:E] BRHET R3.6.17
¥ (BEH) |Avr¥ £ B BREtEd 100 [#HET 10.0 BREtEd R3.6.30
HEAGETNEEESS KA X HEE BT 100 [#HET 10.0 BT R3.6.10
BEACGESZ NEEESS KA & | B3 100 [#HHET 10.0 BHEd R3.6.8
B (BESH) |7 ¥ £ #%H BmEtEd 100 [#HET 10.0 BmEEd R3.6.22
FE(AREEH) |FX KA BE BT 100 [#HET 10.0 BmEEd R3.6.15
FE (REH) = o FiE H = BRHET 100 | HBHEd 11.9 B3 R3.6.25
FERUAREEH) | =V N /MEH BmEtEd 100 [#HEd 12.6 BmEtEd R3.6.14
FE(HREfH) | =y —3#HE $E~ [ B9 100 [#HET 12.3 BREEd R3.6.23
FE (MREH) = oy -3 H -3 H BREtEd 100 [#HH+ET 10.0 BREtEd R3.6.15
R (AREEH) |V b=b. £ H BmEEd 100 [#HET 10.0 BmEEd R3.6.28
R (EREH) | =y Kif (el BRHET 100 | HBRHET 10.0 BmHEEd R3.6.18
E (EEH) [E—VY s i B3 100 | HBHEd 11.9 BRHET R3.6.9
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EEMEFICES TS EBZBERER
SH3ES HAIE
(BAfL: RO JL/kg)

s o FRER T B E B B E B BITEE ——
Sk H wis | FRER | pomnisa) | evvaien  |esmsamm| WER
B R RE B R RE

Riifa 7R JEMA ] BRHET 100 | HBRHET 10.0 BmHEEd R3.6.29
k] 7R ZDHh &% A BT BREtEd R3.6.28
Riifa XA N R H BT 100 [#HET 10.0 BT R3.6.8
Riifa XA e H =0 B3 100 | BHEY 10.0 BHEd R3.6.22
k] A b= s H BmEtEd 100 | HBHEd 12.3 BmEEd R3.6.10
Riifa X Kif 3 H BT 100 [#HET 10.0 BmEEd R3.6.24
RHizE X IMET ST BREET 100 | BHET 11.8 BREET R3.6.8
k] X IMEST RRE; BHEY 100 | HHEd 11.9 BmEtEd R3.6.11
Riifa X IMET RRE; B9 100 [#HET 12.3 BREEd R3.6.14
RHizE X i AEIR BREET 100 [#HH+ET 12.6 BREtEd R3.6.8
RufE XA i A BmEEd 100 [#HET 15.0 BmEEd R3.6.28
Riifa X N /LA | BREET 100 [#HHET 12.1 BmHEEd R3.6.16
RHizE X XE /LA | BEET 100 [#HET 12.0 BREtEd R3.6.22
Ruifs X KE /MEH BREtEd 100 [#HET 10.0 BT R3.6.2
Riifa X N /NMEHA B9 100 | BHEY 10.0 BmEEd R3.6.8
RHisa X IMET EH BREtEd 100 [#HEd 12.3 BREtEd R3.6.24
Riifs XA IMEST &M@ BT 100 [#HET 10.0 BmEEd R3.6.29
Riifa XA KA /heh B3 100 | BHEY 10.0 BHEd R3.6.8
bk X £ /hep BREtEd 10.0 12.6 10.0 12.6 R3.6.28
Riifa XA Kif /\eh B9 100 [#HET 10.0 BmEEd R3.6.28
RHizE X b=b. B BREET 100 | BHET 10.0 BREET R3.6.28
SR XA N Hr BmEtEd 100 [#HET 10.0 BREEd R3.6.4
Riifa X Kif KA B9 100 [#HET 10.0 BREEd R3.6.21
RHizE X KA £ BREET 100 [#HET 10.0 BREtEd R3.6.21
Ratsa X KA £ BT 100 [#HET 10.0 BmEEd R3.6.29
EXEET A Kif EJE.’ BRHEET R3.6.14
RHizE X Z#H Rzl BmEtEd 100 [#HET 12.3 BREtEd R3.6.4
E RS X Z3#H 1:#EH BT 100 [#HET 11.5 BREEd R3.6.8
Riifa X —3#HE —3#HE B9 100 |BHEY 12.0 BmHEEd R3.6.8
RHizE X Z#H Z#H BmEtEd 100 [#HET 12.0 BREtEd R3.6.18
Riifs XA Z#HE Z#HE BT 100 [#HET 10.0 BmEEd R3.6.23
Riifa X —H#HE —H#HE B3 100 | BHEY 10.0 BHEd R3.6.24
E RS X G G 1] BREtEd 100 [#HET 12.6 BREtEd R3.6.7
Riifs XA S 7a)ll B9 100 [#HET 12.8 BmEEd R3.6.8
RHizE X i FELLSF BREET 100 [#HH+Ed 12.3 BREtEd R3.6.15
E RS XA [HTHA ¥ H BmEtEd 100 [#HET 10.0 BREEd R3.6.18
Riifa X [ =% R H B9 100 [#HET 10.0 BmHEEd R3.6.25
RHizE X JEHE EE BmEtd 100 [#HET 10.0 BREtEd R3.6.2
Ruifs XA JEE EE BT 100 [#HET 10.0 BmEEd R3.6.2
EXEE A JEM BE B9 100 | BHEY 10.0 BmEEd R3.6.3
RHizE X —H#H RtR BREET 100 [#HHET 12.8 BREtEd R3.6.4
Ruifs X KA JE A B9 100 [#HET 10.0 BmEEd R3.6.22
Riifa X i B\ B9 100 | BHEY 12.2 BmHEEd R3.6.15
ek X i B\ BREtEd 100 [#H+Ed 16.2 BREtEd R3.6.16
Rutsa XA =% STE BT 100 [#HET 13.2 BmEEd R3.7.1
RHizE X =3 xiR BREET 100 | BHET 12.6 BREET R3.6.15
k] X a3 xiR BmEtEd 100 [#HEd 10.0 BmEtEd R3.6.15
Riifa X =i xR B9 100 [#HET 10.0 BRHEEd R3.6.15
RHizE X KA X HEF BREET 100 [#HH+Ed 10.0 BREtEd R3.6.10
E RS XA JEH HE BmEtEd 100 [#HHET 10.0 BREEd R3.6.8
Riifa X JEME FH BRHET 100 | HBHET 10.0 BT R3.6.9
RHizE X JEH FHE BREtEd R3.6.10
Rutsa X JEH FHE BREEd R3.6.10
EXEE A JEE H BRHET 100 | HBHET 10.0 BmHEEd R3.6.15
RHizE XA JEH HE BREtEd 100 [#HET 10.0 BREtEd R3.6.14
RuifE XA JEE FHE BT 100 [#HET 10.0 BREEd R3.6.17
Riifa X JEM s B9 100 | BHEY 10.0 BmHEEd R3.6.21
ek XA JEH HE BREtEd 100 [#H+Ed 10.0 BREtEd R3.6.25
Rutsa XA JEE FH B9 100 | HBHEd 10.0 BmEEd R3.6.25
RHizE X ZDih SERET BREET R3.6.22
Raisa HHS5UR IMEST I BREtEd 100 [#HEd 10.0 BREEd R3.6.4
Riifa HH5 R JEM EE B9 100 [#HET 14.6 BRHEEd R3.6.22
RHizE HYHS5UR JEHE EE BREtd 100 [#HHET 10.0 BREtEd R3.6.14
Ruifs HHS5UR JEH AiIE I BT 100 [#HET 11.8 BmEEd R3.6.10
Riifa HHS5 R JEM miA)Il B9 100 [#HHET 11.9 BmHEEd R3.6.11
RHizE HYHS5UR JEHE B EJIl BmEtEd 100 [#HET 10.0 BREtEd R3.6.3
Ruisa HHS5UR G B\ BT 100 [#HET 11.8 BREEd R3.6.11
EXEE HHS5 R A% B\ B3 100 | BHEY 16.6 BmHEEd R3.6.14
Riifs HYHS5UR i FE] BRHEY 100 | HBHEd 11.6 BREtEd R3.6.15
Rutsa o5 FHL% B\ BREEd 100 [#HET 11.8 BT R3.6.16
E B HYH5UR FitE"S #E\ BREET R3.6.17
ek HYHS5UR JEHE HE BREtEd R3.6.10
R iﬁ 55K JEA FH B9 100 | HBHET 10.0 BT R3.6.7
RHizE HH5R JEHE H REET R3.6.10
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EEMEFICES TS EBZBERER
SH3ES HAIE
(BAfL: RO JL/kg)

s o FRER T B E B B E B BIEE ——
Sk H wis | FRER | pomnisa) | evvaien  |esmsamm| WER
B R RE B R RE

R HH5R EH FH BREET R3.6.15
E ] HYHS50R JEE HE BREtEd R3.6.15
Riifa HH5 R JEM FH BT 100 [#HET 10.0 BT R3.6.18
Riifa o5 R EH 0/ B3 100 | BHEY 10.0 BHEd R3.6.29
k] ED JEH HE BmEtEd 100 [#HET 12.2 BmEEd R3.6.28
Riifa TS5 L4 JEE giAJIl BT 100 [#HET 10.0 BmEEd R3.6.25
RHizE TI)L—A1)— i H i BREET 100 | BHET 10.0 BREET R3.6.14
k] TIL—AR1)— L RER BmEtEd 100 [#HEd 11.6 BmEtEd R3.6.17
Riifa TIL—A1)— N /NMEHA B9 100 [#HET 12.0 BREEd R3.6.21
RHizE TIL—A1— IMEST iz BREET 100 [#HH+ET 11.4 BREtEd R3.6.15
RufE TIL—A1)— KA KA BmEEd 100 [#HET 10.0 BmEEd R3.6.14
Riifa TIL—A1)— N HEEH BmHEEd R3.6.24
Riifs TIL—A1— i FAE] B3 100 | HBHEd 12.0 BRHET R3.6.18
Ruifs € IMEST ST BREtEd 100 [#HET 12.0 BT R3.7.1
Riifa EE ZDih SEAHET B9 100 | BHEY 12.1 BmEEd R3.6.24
RHisa £E ZDHh &% A BT BREtEd 100 [#HEd 10.0 BREtEd R3.6.30
Riifs EE JEM EE BT 100 [#HET 10.0 BmEEd R3.6.17
Riifa EE JEHE EE B3 100 | BHEY 10.0 BHEd R3.6.22
bk EE JEHE EE BREtEd 100 [#HET 10.0 BREEd R3.6.30
Riifa EE JEM EE B9 100 [#HET 10.0 BmEEd R3.6.30
RHizE £E EH EE BREET 100 | BHET 10.0 BREET R3.6.29
Raisa EE JEE EE BmEtEd 100 [#HET 10.0 BREEd R3.6.29
Riifa EE JEM EE B9 100 [#HET 10.0 BREEd R3.6.29
RHizE EE JEH EE BmEtd 100 [#HET 10.0 BREtEd R3.6.30
Ruifs EE i &Ll BT 100 [#HET 12.2 BmEEd R3.6.29
Riifa £E i kLl B9 100 [#HHET 12.1 BmHEEd R3.6.30
RHizE EE P &Ll BmEtEd 100 [#HET 12.1 BREtEd R3.7.1
E RS EE JEE AiIE I BT 100 [#HET 12.0 BREEd R3.6.30
Riifa EE EH BT E I B9 100 |BHEY 10.0 BmHEEd R3.6.15
RHizE EE JEH HE BmEtEd 100 [#HET 10.0 BREtEd R3.6.28
Riifs EE JEE FH BT 100 [#HET 10.0 BmEEd R3.6.29
Riifa EE EH FH B3 100 |BREET 10.0 BHEd R3.6.30
Raisa EE JEH HE BREtEd 100 [#HET 10.0 BREtEd R3.6.30
Riifs INE XE R H B9 100 [#HET 10.0 BmEEd R3.6.8
RHizE N Z Dt SERET BREtEd 100 [#HH+Ed 10.0 BREtEd R3.6.16
E RS N IMEST 15 H BmEtEd 100 [#HET 10.0 BREEd R3.6.8
Riifa INE N /LA | BREET 100 [#HET 10.0 BmHEEd R3.6.11
RHizE N KA /e BmEtd 100 [#HET 10.0 BREtEd R3.6.8
Ruifs N KE H BT 100 [#HET 10.0 BmEEd R3.6.3
Riifa INHE KA KA B9 100 | BHEY 10.0 BmEEd R3.6.7
RHizE N JEH EE BmEtEd 100 [#HHET 10.0 BREtEd R3.6.3
Ruifs N JEH FHE B9 100 [#HET 10.0 BmEEd R3.6.3
Riifa /N EH s B9 100 | BHEY 10.0 BmHEEd R3.6.7
ek N Z D1t &% A BT BREtEd R3.6.22
Rutsa N ZDih EFESI BmEEd R3.6.10
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EEMEFICES TS EBZBERER
SH3ES HAIE
(BAfL: RO JL/kg)

e o FER I BIEE BIEE BIEE —
A % B i | TR | (pobntaa) | eyLa187)  |evyLaEE| AR
B R RE B R RE

W 7% KA KA BREET R3.6.11
W JF KE HE BREtEd 100 [#HET 10.0 BREtEd R3.6.8
T4 7% £ B BT 100 [#HET 10.0 BT R3.6.15
[ITES 7% A% KH BHEES] 100 [BHET 12.6 BHEd R3.6.3
ITES 7% JEE giAJI BHEEd | 100 [#BHEET 10.0 BmEEd R3.6.7
ITES 7% i ] BT 100 [#HET 12.6 BmEEd R3.6.8
ITES <5 ZDHh SERET BREET 100 | ®BHEHET 11.9 BEET R3.6.25
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EEMEFICES TS EBZBERER
SH3ES HAIE
(BAfL: RO JL/kg)

I o RE I BIEE BIEE BIEE —
Sk H wis | FRER | pomnisa) | evvaien  |esmsamm| WER
B R AE B R AE
e NPE==D Fig RH BEEd | 100 [HBEET 10.0 BmHEEd R3.6.29
58 ryEODY [HhA SAHE |HBHEY|[ 100 |HBHET 10.0 BREtEd R3.6.29
%58 NPET==D Z#HE Z#HE BT 100 | HBHET 12.5 BT R3.6.30
%8 *@ IMEST INE BHEd R3.6.11
58 *0 IMEST INE BRHET R3.6.11
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REVFICBTIRHAMEMERZAERR

SHM3FE6HBAIE

(BAfL: RO JL/kg)

% o FREY I I E (E HIEE HIEE —
R H wis | FRER | pomnisa) | evvaien  |esmsamm| WER
BRHEBRFRIE BRERERE
zotorsMIES |[H 3 INEST 12 B9 10.0 BHEET 12.4 BREET R3.6.11
zomors MIg®) |4 AR i =H BHE9 10.0 BHEI 13.2 BHEE9 R3.6.16
ZorORREMIES |S) I—#H I—#H BT 10.0 B9 11.7 BHEET R3.6.18
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